UNIT I. BASICS OF ECONOMICS
Exercise 1. Learn the following words and word combinations.

production - BUPOOHUIITBO

distribution - PO3MOILT; TTOIIMPEHHS
exchange - 00MiH, TOBapOOOMiH
consumption - CIIOKMBAHHS

unemployment - 6e3pobiTTs

labour - Tpars

want - Oa)kaHHSA

scarce resources - JediluTHI, HEMOCTATHI pecypcH
government spending - YPSJ0Bi BUTpATH

address - BUBYATH, BUPIIIYBATH

Exercise 2. Read, translate and give the gist of text 1.
Text 1. What Economics Is All About

Studying economics for the first time, it is necessary to know
what economics is all about. Unfortunately, it is not possible to define the
subject by a single word. Economics was defined as the study of mankind
in the everyday business life. This means that economics deals with
production, distribution, exchange and consumption. It answers such
questions as: How do we produce all the things we need? How are prices
determined? Economics is also concerned with unemployment, inflation,
international trade, the interaction of business and labour, and the effects
of government spending and taxes.

Economics does not stop with the description of economic
activity because description alone leaves unanswered many important
why and how questions.

Economics is a social science like history, geography, politics,
psychology and sociology. It is the study of human efforts to satisfy what
seems like unlimited and competing wants through the careful use of
relatively scarce resources. Resources include the time and talent people
have available, the land, buildings, equipment, and other tools on hand,
and the knowledge of how to combine them to create useful products and
services. Because of unlimited wants and limited resources to satisfy
those wants, economic decisions must be made. This problem of scarcity
(limited resources) must be addressed, which leads to economics and
economic problems.



Although the behaviour of individuals is important, economics
also addresses the collective behaviour of businesses and industries,
governments and countries, and the globe as a whole. Microeconomics
starts by thinking about how individuals make decisions.
Macroeconomics considers aggregate outcomes. The two points of view
are essential in understanding most economic phenomena.

Exercise 3. Give English equivalents.

JlroncTBO, BUPOOHMIITBO, PO3MOJILL, CIIOKMBAaHHS, OOMIH,
nedinuTHI pecypcu, HeoOMexeHi oTpedr, BU3HAYATH 1iHY, 0e3po0iTT,
MOJAaTKH, YPAJAOBI BUTpPATH, MDKHApOAHA TOPTIBIS, MPOAYKTH Ta
MOCITYTH, TIOBE/IIHKA, TPUAMATH PillIeHHS, 3arajJbHUAN pe3yNbTaT.

Exercise 4. Answer the questions on text 1.

1. What does economics deal with? 2. What questions does
economics answer? 3. What kind of science is economics? 4. What does
economics study? 5. What is the difference between microeconomics and
macroeconomics?

Exercise 5. Match terms on the left with the definitions on the

right.

1. economics a. something in short supply; not enough to meet
demand.

2. production b. activity of buying and using goods.

3. distribution c. the creation of services or the changing of
material into products.

4. exchange d. the activity of selling goods and services in
order to make a profit.

5. consumption e. the production, distribution and sale of goods
and services for a profit.

6. business f. the movement of finished products from
the manufacturing location to the marketplace.

7. trade g. the social science that describes and analyzes

how society chooses from among scarce
resources to satisfy its wants.
8. scarce h. the process of trading or bartering one unit or
set of goods or services for another unit or set.
Exercise 6. Complete the sentences according to text 1.



1. Economics was defined as... . 2. Economics deals with ... . 3.
Economics is also concerned with ... . 4. It is the study of ... .
Resources include ... . 6. Economics also addresses ... .
Microeconomics starts by ... . 8. Macroeconomics considers ... .
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Exercise 7. Translate into English.

1. ExoHOMiKY BU3HAYaM SIK BUBYCHHS JIFOJICTBA Y MOBCSIKACHHOMY
JinoBoMy XHTTi. 2. EKOHOMiKa HE BHYEPIIYETHCS OMKUCOM EKOHOMIYHOI
nisutbHOCTI. 3. ExOoHOMIKa BHWBYa€ 3yCHIUIS JIIOJUHH, CIPSIMOBaHI Ha
3aJI0BOJICHHSI CBOIX HEOOMEKEHHX IMOTped 3a PaxyHOK OepeKIUBOIrO
BUKOpPUCTaHHSI BiJIHOCHO HemocTaTHiX pecypciB. 4. ExoHoMika Takox
BHBYA€ KOJEKTHBHY IMOBEIHKY MiAPHEMCTB Ta MPOMHUCIOBOCTI, yPsIIiB
Ta KpaiH, 3emii BIiIoMy. 5. MIiKpo Ta MakpOeKOHOMIKa BaXJIMBI JUIs
PO3YMIHHS OUIBIIOCTI €eKOHOMIYHHUX SIBHIIL.

Exercise 8. Learn the following words and word combinations.

employment pobora, 3aiHATICTH

income 3apo0iTOK, TOXOJ, TIPUOYTOK
attain J0CSTaTH

well-being Gmarormomyaus, 100pobyT
concern crpaBa, iHTepec, CTypOOBaHICTh
essential CYTTEBO HEOOXiTHHIA, OCHOBHUIA
comprise MICTHTH, BKJIIOYATH B ceOe
actually IilicHO, crIpaBi

outcome pe3yabTaT, HACHTIJOK

welfare 00po0yT

performance JOCSATHEHHS

Exercise 9 . Read, translate and give the gist of text 2.
Text 2. Microeconomics and Macroeconomics

Understanding how various economies work is the basic purpose
of studying economics. We seek to know how an economy is organized,
how it behaves, and how successfully it achieves its basic objectives.
Then if we are lucky, we try to discover better ways of attaining those
same objectives.

Four major economic goals are generally accepted. These goals
are:

- full employment



- price stability

- economic growth

- an equitable distribution of income.

In each case, the goal itself is formulated through the political
process. The economist's job is to help design policies that will allocate
the economy's resources in ways that best achieve these goals.

The study of economics is typically divided into two parts:
macroeconomics and microeconomics. Macroeconomics focuses on the
behavior of an entire economy - "the big picture". In macroeconomics we
worry about such national goals as full employment, control of inflation,
and economic growth, without worrying about the well-being or behavior
of specific individuals or groups. The essential concern of
macroeconomics is to understand and improve the performance of the
economy as a whole.

Microeconomics is concerned with the details of this "big
picture”. In microeconomics we focus on the individuals, firms, and
government agencies that actually comprise the larger economy.

The distinction between macro- and microeconomics is a matter
of convenience. In reality, macroeconomic outcomes depend on micro
behavior, and micro behavior is affected by macro outcomes. Hence one
cannot fully understand how an economy works until one understands
how all the participants behave and why they behave as they do.

Our interest in microeconomics is motivated by more than our
need to understand how the larger economy works. The "parts" of the
economic engine are people. To the extent that we care about the welfare
of individuals in society, we have fundamental interest in
microeconomics behavior and outcomes. In this regard, we examine the
goal of individual consumers and business firms, seeking to explain how
they can maximize their welfare in the economy. In microeconomics, for
example, we spend more time looking at which goods are produced, who
produces them, and who receives them. In macroeconomics we tend to
focus only on how much is produced, or how many people are employed
in the process. There are only some aspects of economics as a science.

Exercise 10. Translate the following words and word-
combination into Ukrainian:

to achieve basic objectives, to discover better ways of attaining
objectives, generally accepted economic goals, full employment, price



stability, economic growth, an equitable distribution of income, to be
formulated through the political process, to allocate the economy’s
resources, to focus on the behavior of an entire economy,
macroeconomic outcomes, to depend on micro behavior, to be motivated
by more than our need, to understand how the larger economy works, to
care about the welfare of individuals in society, to have fundamental
interest in microeconomics behavior and outcomes, to examine the goal
of individual consumers and business firms, to be employed in the

process.

Exercise 11. Match the word from the left column and its
meaning in the right.

1. motivate a. concentrate on something

2. fundamental b. act or react in the specific way

3. equitable c. the effect or result of an action or event

4. welfare d. essential, necessary

5. focus e. become or make something better

6. attain f. cause somebody to act in a particular way

7. behave g. achieve something especially with effort

8. employment h. the good health, happiness, comfort etc. of
a person or group

9. outcome i. fair and just reasonable

10. improve j. work especially in return for regular pay

Exercise 12. Match up the verbs on the left with an appropriate
word or phrase on the right:

1. to spend a. on the behavior of an entire economy

2. to allocate b. basic objectives

3. to help c. the economy’s resources

4. to focus d. design policies

5. to be affected e. about the welfare of individuals

6. to depend f. the performance of the economy as a
whole

7. to care g. on micro behavior

8. to formulated h. through the political process

9. to improve i. by macro outcomes

10. to achieve J. more time



Exercise 13. Supply the statements with necessary details:

1. If we are lucky we try to better ways of the
(discover, objectives, attaining). 2. Four major economic are
generally (accepted, goals). 3. The economist's job is to help

policies that will economy's resources in ways that best

these (achieve, goals, design, allocate). 4.
focuses on the of an entire economy - "the big picture"
(behavior, macroeconomics). 5. The_ of macroeconomics is to
understand and the of the economy

(improve, performance, as a whole, essential concern) 6. The

between macro- and microeconomics is a
(distinction, matter of convenience). 7. Macroeconomic outcomes

micro behavior, and micro behavior is by macro
(outcomes, behavior, depend on, affected).8. one cannot fully
understand how an works until one understands how all the
behave and why they as they do (participants, behave,

hence, economy). 9. we care about the
of individuals in , we have - in

microeconomic behavior and outcomes (fundamental interest, welfare, to
the extent that, society).

Exercise 14. Find in the text and translate all sentences with
Passive Voice; define the tense-form of the verbs.

Exercise 15. Discuss the text “Microeconomics and
Macroeconomics” with your partner using the following questions:

1. What is the basic purpose of studying economics? 2. What
four major economic goals are generally accepted? 3. What is the role of
economists in the political process? 4. What two parts is the study of
economics typically divided into? 5. What does macroeconomics focus
on? 6. What is the essential concern of macroeconomics? 7. What is
microeconomics concerned with? 8. What is the distinction between
macroeconomics and microeconomics? What is their dependence upon
each other? 9. Under what conditions can one only understand how the
economy works? 10. What is particular motivation in studying
microeconomics? 11. Are microeconomic behavior and outcomes
interesting to us? To what extent?



Exercise 16. Learn the following words and word combinations.

economics
economic

economical
economist
economize

economy
command economy

free market economy
mixed economy

demand
demand for something
be in high / low
demand

consumption
make a decision
entirely

at a certain level
allocate
restriction
former

(the) former
(the) latter
regulation
resource(s)

E€KOHOMIYHA HayKa, CKOHOMIKa
E€KOHOMIYHHMH, €KOHOMIYHO-BUTIIHHH,
peHTabeNbHUIM

E€KOHOMHHUH, OIIaIJTHBUI, CKOHOMIYHUI
E€KOHOMICT

€KOHOMHUTH, CKOHOMHO BHKOPHUCTOBYBAaTH
abo BUTpavyaTu

€KOHOMIKa IrOCIoIapCTBa
[EHTpPaJi30BaHO-KEpOBaHa
HEPUHKOBA €KOHOMIKA
BiJIbHa pUHKOBA EKOHOMIKa
3MilIaHa eKOHOMIKa
BHUMOTa, MOMHUT, IoTpeda
TOITUT Ha 1I0Ch
KOPUCTYBaTHUCh
MOMUTOM
CIOXKUBAHHS
MIPUIMATH PIllICHHS

MOBHICTIO, 30BCIM

Ha TIEBHOMY PiBHI

BUJIUIATH, PO3MIIIATH, ACUTHYBATH
OoOMEXEeHHS

KOJIUIITHIN, ITOTIepeTHin

TepuIni

OCTaHHIH

pEryITIOBaHHS

pecypcH, KOIITH

E€KOHOMIKa,

BEIMKUM / HEBEIUKHM

Exercise 17 . Read, translate and give the gist of text 3.
Text 3. Types of Economy
Economics is a science that analyses what, how, and for whom
society produces. The central economic problem is to reconcile the
conflict between people's unlimited demands with society's ability to

produce goods and services.

In industrial Western countries markets are to allocate resources.
The market is the process by which production and consumption are
coordinated through prices.



In a command economy, a central planning office makes
decisions on what, how, and for whom to produce. Economy cannot rely
entirely on command, but there was extensive planning in many Soviet
block countries.

A free market economy has no government intervention.
Resources are allocated entirely through markets.

Modern economies in the West are mixed and rely mainly on the
market but with a large dose of government intervention. The optimal
level of government intervention remains a problem which is of interest to
economists.

The degree of government restrictions differs greatly between
countries that have command economies and countries that have free
market economies. In the former, resources are allocated by central
government planning. In the latter, there is not any government regulation
of the consumption, production, and exchange of goods. Between the two
main types lies the mixed economy where market and government are
both of importance.

Exercise 18. Translate the following into English: mepuukosa
€KOHOMIiKa, BUIbHA pPHHKOBA EKOHOMIiKa, 3MilllaHa EKOHOMIKa,
KOPHUCTYBATHUCh BEIUKAM (HEBEIIMKUM) TIOIMMTOM, PO3MOALUISITH PEeCypcH,
MpuUiiMaTH  pIllICHHS, Ha TIEBHOMY piBHI, OOMEKEHHS, JIepKaBHE
BTPYYaHHS, JIepKaBHE PEryIIOBaHHS, CIIO)KUBAHHS, BUPOOHUIITBO, OOMiH
TOBapamMy,  KOOPJWHYBATHCh  I[IHAMH, JIEpXKaBHE  ICHTpaJibHE
TUTAHYBaHHS, MAaTH 3HAYEHHS, TMOKJIAJAaTUCh Ha, IiHA Ha TOBap, 3a
BUCOKHMH (HU3HKHMH) IIIHAMH.

Exercise 19. Translate the following sentences into Ukrainian.
Put questions to any two of them.

1. The government plays an important role in allocating
resources in the economy. 2. A government planning office decides what
will be produced, how it will be produced, and for whom it will be
produced. 3. Resource allocation decisions are being made in every city,
mostly through the mechanisms of markets and prices. 4. Grain markets
have greatly changed over the 25 years in the United States and Europe.
Both have high levels of government intervention in their agriculture. 5.
The problem with government regulation of markets is to control how
government restriction work in real life. 6. Governments are to regulate



or plan production and consumption. The former is typical of mixed
economics, the latter is typical of command economics. 7. In many
countries there was a large dose of central regulation and planning. 8.
All-round planning is not an easy task, and there is not any command
economy that relies entirely on planning for all resources allocation
decisions.

Exercise 20. Choose the appropriate word from the variants
given in brackets.

1. (Economics / economy) studies how markets and prices allow
society to solve problems of what how and for whom to produce.

2. (A command economy / free economy) is society where the
government makes all decisions about production and consumption.

3. Every economist sees (the restriction / the importance) of the
question of what, how, and for whom to produce.

4. Nations have different (consumption / levels) of farm
production.

5. When (the price / the importance) of some goods grows,
people will try to use less of them but producers will want to produce
more of them.

6. After years of competition between command and market
economies (the former / the latter) gave way in many countries of the
world to (the former / the latter).

7. In (mixed / both) countries, Canada and the USA, structural
changes in the agricultural sector of economy have become of interest to
economists and general public in the 80s and 90s of the 20™ century.

Exercise 21. Put the verbs in brackets into the correct form.

There (to be) various forms of government restrictions and
regulations in economies. For example, Turkey and Norway both (to
limit) profits of firms, the latter also (to control) prices and wages; in
Bolivia the tin mines (to nationalize); in China communes (to establish);
in Cuba the government (to own) many industries and firms; and in
Britain eight basic industries (to nationalize).

A free market economy (to be) rare in the world.

The level of economy regulation (to be) different in different
countries. In some countries it (to grow) in recent years, in others more
freedom (to grant) to firms and individuals. But the general tendency (to



be) to keep government regulation at quite a high level.

Exercise 22. Complete the sentences below by inserting the
words: economy, economics, economist, economic, economize,
economical.

1. The national ... is the system of the management and use of
resources of a country. 2. You can ... if you compare the prices of goods
before buying them. 3. An early definition of ... was “an inquiry into the
nature and causes of the wealth of nations”. 4. J.M. Keynes was a famous
... . 5. Inflation may cause a bad ... state in a country. 6. If you’ve got a
large family, it’s more ... to travel by car than by train.

Exercise 23. Translate into English.

1. Po3BuHYTI KpaiHM HOCATalOTh SKOHOMIYHOIO YCIIXy 4Yepes
cremiaizaiio. 2. B ekoHOMIKax 3MIIIAHOTO THUIY € YPSIIOBI OOMEXEHHS
MIOJI0 TOr0, IO BUPOOJATH 1 sk BuUpoOssTH. 3. KoxHuii MeHemxep
npuitMae  pimieHHS  SK  PO3MOILITUTH oOMexeHi  pecypcu
HalieheKTHBHIMIMM crocoooM. 4. 3a yMOB pPHHKOBOI EKOHOMIKH
peryiIIoBaHHS BUPOOHMIITBA 1 CIIOKUBAHHS 3MIMCHIOETHCS Yepe3 IiHH. D.
EKOHOMICTH KOHTPOJIOIOTH ITIHH 1 PiBHI CIIOKMBAHHS Pi3HUX TOBApiB i
mociyr. 6. SIKImoO MM acHTHYeEMO JOCHTh KOINTiB Ha PO3BHTOK
rocriogapcTBa, MH OIEPKMMO BHCOKHM piBEHb BHPOOHHWIITBA. /.
Pexomennariii eKOHOMICTIB MOKYTh MAaTH BaYKJIMBE 3HAYEHHS JJIS yPSI/IiB,
ajie BOHM He 3aBX/IM Ha HUX MOKIanaioTecs. 8. [Ipobmemoro mep:xaBHOTO
perymioBaHHS PUHKIB € KOHTPOIb 3a THUM, SK YPSAOOBI OOMEXEHHS
MPAIOIOTh B PEaTbHOMY JKUTTI.

Exercise 24. Discuss the text “Types of Economy” with your
partner using the following questions:

1. What is the central economic problem of a society? 2. What is
the market? 3. What is the function of the market in an industrial
country? 4. How are decisions made in a command economy? 5. In what
way does a free market economy differ from a command economy? 6. To
which type do most economies in the West belong? 7. To which type
does the economy of present day Ukraine belong? 8. Is the level of
government regulation growing or falling in Ukraine’s economy now?

Exercise 25. Learn the following words and word combinations.



equal

favorable

output

iron ore extraction
cast iron

mineral fertilizers
coal mining
concrete
crossroads
ramified network
attendant branches
ferrous metallurgy
mineral deposits
dyes

canned

highway

design

encourage

be targeted

piBHSTHCS
CIIPUATIUBUI
MPOIYKIIisl, BUITYCK

BUA0OYBaHHS 3QJ113HOI pyIx

YaBYyH
MiHepabHi 100pruBa
BUJOOYTOK BYTLLIS
OeroH

nepexpecTst
posrairyKeHa Mepexa
00CITyTOBYOU1 rary3i
YOpHA METaIypris
MiHepaJbHI MOKIaan
OapBHUKH
KOHCEpPBOBaHUM
nroce

pO3pOOITIOBATH
MiATPAMYBaTH

OyTH HaIlLJICHUM Ha

Exercise 26. Read, translate and give the gist of text 4.
Text 4. National Economy of Ukraine

Ukraine is a state and it is one of the largest countries in Europe.
It has its own territory, constitution, higher and local bodies of state
power and government. The territory of Ukraine is 603.700 sg. km. Its
population equals 48 million people. There are 24 administrative regions
and the Autonomous Republic of Crimea in Ukraine. The geographical
position of Ukraine is very favorable to the development of relations with
the countries of Europe, as well as with countries throughout the world. It
borders on the Russian Federation, Belarus, Moldova, Poland, Slovak
Republic, Hungary and Romania.

To have an idea of Ukraine's economic potential, its resources,
and define the scale of reforms which must be carried out let us get
acquainted with some objective data. Ukraine produces almost 5 per cent
of the world output. Ukraine is the first in Europe in iron ore extraction,
production of steel, cast iron, tractors, mineral fertilizers, sugar and grain;
the second in coal mining and the third in producing concrete, electric
energy and various equipment.



Historically the following two factors determined the
development of Ukrainian lands: firstly, the presence of fertile
chernozem soils and secondly remarkably convenient geographical
location on the crossroads of international trade routes.

Present-day independent Ukraine has a considerable potential to
quickly develop its economy - and this is explained not only by favorable
natural conditions, but also by the convenient geographical position in
terms of international trade exchanges.

Ukrainian industries constitute a ramified network with modern
attendant branches. Heavy industries, especially ferrous metallurgy, coal
and machine building are predominant in the national industrial complex.
Defense industry also occupies an important place. At present, it is being
restructured and converted with the emphasis on the output of consumer
goods.

Together with the fact, that Ukraine's climate is mainly
moderately continental it allows for considerable progress in agricultural
production after the village reoriented towards the market economy.

Ukraine can be divided into three economic areas: Southwestern,
Donets-Dnieper and Southern. The Southwestern Economic Area has
supplies of metals and fuel, largest reserves of mineral and wood. The
top position is held by the sugar industry. Sweets of the Lviv factory
"Svitoch" have won great popularity. The Donets-Dnieper Economic
Area has rich mineral deposits. It has major industrial base for heavy
industry - the Donets Basin contains plants producing zinc, plastics, soda
and dyes. The area has the greatest concentration of power stations in
Ukraine.

The Southern Economic Area is close to the sea. Its key sector is
shipbuilding. Local factories produce machinery for the power industry,
tractors and harvesters. Southern Ukraine is a large producer of grape
wines, canned fruits and vegetables. Crimea has rich recreational
resources.

Ukraine has a well-developed transportation system. Ukraine's
highways include about 147.000 km of paved roads. Kyiv and Kharkiv
have subway systems. A large railroad network connects major cities and
industrial centers.

Ukraine's chief airports are at Borispol, Kharkiv and Odessa.
Major ports include Illichevsk, Kerch, Kherson, Mariupol, Mykolayiv,
Odessa, Sevastopol and Yalta.
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Ukrainian Economy promises to become more and more
attractive for foreign capital. Foreign partners are now able to evaluate
correctly the market in Ukraine and work out investment strategies which
would make the realization of large-scale, mutually beneficial programs
possible. The Ukrainian government has designed a programme to
promote foreign investments. It could facilitate industrial restructuring,
increase domestic consumption level, promote export and import and
encourage a new product development. This programme is targeted on
fuel, machine building, electric energy, metallurgy of ferrous and
nonferrous metals, chemical industry, food and food processing, paper
manufacturing, agro industrial complexes, civil building and other
branches of industry.

Exercise 27. Translate into Ukrainian the following word-
combinations. Make up your own sentences with some of them.

To be very favorable, to border on, to have an idea of, to define
the scale of reforms, to be acquainted with, to have a considerable
potential, to be explained by the convenient geographical position, to
constitute a ramified network with modern attendant branches, to occupy
an important place, to allow for considerable progress in agricultural
production, to have rich mineral deposits, to have the greatest
concentration of power stations, to be more and more attractive for
foreign capital, to design a programme to promote foreign investments,
to facilitate industrial restructuring, to increase domestic consumption
level, to encourage a new product development.

Exercise 28. Select the correct words from the list below to
complete the sentences: connects, recreational, chief, determined,
leading, key to be solved, located, famous for, produce.

1. Ukraine's exports are wheat, sugar beets, coal,
construction equipment. 2. The sector of this economic area is
shipbuilding. 3. Ukraine's heavy industries iron and steel,
machine tools, and mining equipment. 4. Ukraine is its
agricultural production. 5. The country also has hydroelectric plants

mainly on the Dnieper River. 6. Ukraine is a
producer of manganese, which is used in making steel. 7. Crimea has rich
resources. 8. These problems are in the course of new
economic reforms. 9. A railroad network major cities and



industrial centers. 10. Two factors the development of
Ukrainian lands.

Exercise 29. Give the names to the following definitions:

a main road, usually connecting large towns, any public road; fully
independent and with complete freedom to govern in itself nation or state;
to make or manufacture something, especially in large quantities; the
amount of something that a person, a machine or an organization
produced; the small hard seeds of food plants such as wheat, rice etc.; the
investing of money; having a helpful or useful effect; suiting somebody’s
needs or plans, giving no trouble or difficulty, suitable; a place where two
roads meet and cross; to help something to develop or increase, to
stimulate something.

Exercise 30. Match up the verbs with an appropriate preposition:

1. to be divided a) with
2. to border b) to
3. to occupy c) by
4. to be acquainted d) on
5. to be converted e)of

6. to be targeted f) into
7. to be favorable g) for
8. to have an idea h) out
9. to be explained

10. to allow

11. to be crossed

Exercise 31. Write a plan of the text in the form of statements.
Get ready to retell the text according to the plan.

Exercise 32. Learn the following words and word combinations.

requirement - BUMoOTa

acceptance - CXBaJICHHS, IPUXUIIbHICTD
accomplishment - IOCATHEHHS, YCITiX

means - 3aci0

survival - BIDKABAHHS

willingness - TOTOBHICTH



Exercise 33. Read, translate and give the gist of text 5.
Text 5. Needs, Wants and Demand

Economics like any other social science has its own vocabulary.
To understand economics, a review of some key terms is necessary:
needs, wants, and demand.

A need is a basic requirement for survival. People have basic
needs such as food, clothing and shelter. People also have higher level
needs, such as communication, love, acceptance, knowledge, hope and
accomplishment.

A want is a means of expressing a need. Food, for example, is a
basic need related to survival. To satisfy this need, a person may want a
pizza, hamburger or other favourite food. That is there is any number of
foods that will satisfy the basic need for food.

The point is that the range of things represented by the term
“want” is much broader than those represented by the term “need”.

Sometimes the difference between a want and a need is clear, at
other times, it is not.

A basic need is reflected in a want for a particular product. A
want cannot be counted in the marketplace until it becomes a demand —
the willingness and ability to purchase a desired object.

Exercise 34 . Give English equivalents:

CyCIIUThHA HayKa, OCHOBHI TepMiHH, Oa)KaHHS, TOIHT, BHUMOTa,
OCHOBHI TOTpeOH, CHUIKyBaHHS, HPUXHWIBHICT, HaJis, JOCSITHEHHS,
OarkaHa piv, 3a0BOJIGHATH ITOTPEOH.

Exercise 35. Complete the sentences according to text 5.

1. A need is ... . 2. People have basic needs such as ... . 3. A
want is ... . 4. A basic need is reflected in ... . 5. A demand is... .

Exercise 36. Match the terms on the left with the definitions on

the right.
Term Definition
1. want a) the state or fact of continuing to live or
2. need exist, typically in spite of an accident,
3. demand ordeal, or difficult circumstances.

4. survival b) acquire (something) by paying for it; buy



5. acceptance c) a desire for something.
6. satisfy d) approval or favorable regard.
7. purchase e) circumstances in which something is
necessary; necessity.
f) fulfill (a desire or need).
g) the desire of consumers, clients, employers,
etc. for a particular commodity, service, or
other item.

Exercise 37. Translate the phrases into Ukrainian paying
attention to different meanings of the words want, need and demand.

Physical need; satisfy a need; basic human need for food; to live
in need; for need of; to need badly; you needn't shout; for / from want of
something; to be in (no) want of something; to supply (anticipate, consult,
provide for) one's wants; to come to want; to want something badly /
desperately / very much; her hair wants cutting; my wants are few; to be
wanted by the police; demand for higher pay; to demand higher pay; to
make demands; on demand; the law of supply and demand; to meet /
satisfy consumers' demand; to be in demand.

Exercise 38. Translate into English.

1. ITotpeba - me ocHOBHa BWMoOTra Il BIbKMBaHHA. 2. Jlromm
MaloTh OCHOBHI MOTpeOH, Taki sK ika, omar Ta kutio. 3. CHiaKyBaHHS,
KOXaHHS, NPUXIIBHICTD, Mi3HAHHS, HAJis Ta JOCSITHEHHS - I1¢ JIFOJCHKI
moTpedu BUMIOTO TaTyHKY. 4. baxkaHHs - e 3aci0 BUpaXeHHS oTpedu. 5.
[ToruT - e TOTOBHICTH Ta 3ATHICTh KYIUTH Oa)kaHy pid.

Exercise 39. Learn the following words and word combinations.

factor of production - daxrop BupoGHHIITBA

human resources - JIOJCBKI pecypcH; Kaapu; poboua cuia;
pOoOITHUKH

entrepreneurship - MANPUEMHHIITBO

physical labour - (hisu4Ha mparls

mental labour - pO3yMOBa Iparst

input - BUpOOHHUYHH (aKTOp

efficiency - e()eKTUBHICTb, IPOLYKTUBHICTD



Exercise 40. Read, translate and give the gist of text 6.
Text 6. Economic Resources

Economic resources, often called factors of production, are
divided into four general categories. They are land, labour (sometimes
referred to as human resources), capital, and entrepreneurship.

Land. Land describes the ground that might be used to build a
structure such as a factory, school, home, or church, but it means much
more than that. Land is also the term used for the resources that come
from the land.

Trees are produced by the land and are used for lumber,
firewood, paper, and numerous other products, so they are referred to as
land. Minerals that come from the ground, such as oil that is used to make
gasoline or to lubricate automobile engines, or gold that is used to make
jewellery, or wheat that is grown on the land and is used in the production
of bread and other products, or sheep that are raised for the wool they
produce that is used to make sweaters are all described as land.

Labour (Human Resources). Labour is the general category of
the human effort that is used for the production of goods and services.
This includes physical labour, such as harvesting trees for lumber,
drilling for oil or mining for gold, growing wheat for bread, or raising the
sheep that produce wool for a sweater. In addition to physical labour,
there is mental labour, which is necessary for such activities as planning
the best ways to harvest trees and making decisions about which trees to
harvest. Labour is also involved when a doctor or surgeon analyzes and
diagnoses (mental labour) before performing a medical procedure, then
performs the procedure (physical labour).

Capital. Capital is input that is often viewed in two ways, much
as is labour. Capital might be viewed as human capital— the knowledge,
skills, and attitudes that humans possess that allow them to produce. The
other type of capital is physical capital, which includes buildings,
machinery, tools, and other items that are used to produce goods and
service. Traditionally, physical capital has been a prerequisite for human
capital; however, because of rapid changes in technology, today human
capital is less dependent on physical capital.

Entrepreneurship. One special form of human capital that is
important in an economic setting is entrepreneurship (often thought of as
the fourth factor of production).

Entrepreneurial abilities are needed to improve what we have and



to create new goods and services. An entrepreneur is one who brings
together all the resources of land, labour, and capital that are needed to
produce a better product or service. In the process of doing this, the
entrepreneur is willing to assume the risk of success and failure.

Many people associate entrepreneurship with creating or owning
a new business. That is one definition of entrepreneurship but not the
only one. An entrepreneur might create a new market for something that
already exists or push the use of a natural resource to new limits in order
to maximize efficiency and minimize consumption.

Exercise 41. Give English equivalents.

ExonomiuHi pecypcH, (akTopyd BHPOOHMIITBA, 3eMIIS, Mpars,
JIOJICBKI PEeCypCcH, KallitTall, MiINPUEMHHUIITBO, IMHIOMATEpialii, JpOBa,
KOpPHUCHI KONaJIMHY, HadTa, OCH3MH, IOBENIPHI BUPOOH, TIIICHHUIIS, BOBHA,
3ycuillsi, BUPOOHHUIITBO TOBApiB Ta IMOCIYT, (pi3MyHa mpars, po3ymoBa
mpars, NpuAMaTd pillleHHs, XIpypr, JIIOJCHKHI Karitan, 3HaHHS,
HaBUYKH, TOTTSAIM, (QI3WYHUN Kallitaj, YCTaTKyBaHHS, IHCTPYMEHT,
MIBAIKI 3MIHM TEXHOJIOTiH, MMANPUEMHHUIBKI 3MI0HOCTi, OIlIHIOBATH
PH3HK YCIiXy Ta HEBJaYi, MAKCUMAJHHO ITIIBUIYBATH MPOAYKTHBHICTE,
3BOMIUTH JI0 MIHIMYMY CIIOKUBaHHS.

Exercise 42. Answer the questions on text 6.

1. What are the factors of production? 2. What does land
describe? 3. What is labour? 4. What are the two types of labour? 5. What
is capital? 5. What are the two types of capital? 6. What is
entrepreneurship? 7. Who is an entrepreneur?

Exercise 43. Complete the sentences according to text 6.

1. Economic resources, often called ... , are divided into four
general categories. 2. Land describes ... . 3. ... are all described as land.
4. Labour is the general category of the human effort that ... . 5. . In
addition to physical labour, there is ... . 6. Capital might be viewed as ...
. 7. Because of rapid changes in technology ... .8. Entrepreneurial
abilities are needed to ... . 9. An entrepreneur is one who ... . 10. An
entrepreneur might create ... or ... .

Exercise 44. Complete the text with the words from the box.

| entrepreneurship work goods profit |




natural resources inputs risks machinery

idea capital production land
Factors of is an economic term to describe the
that are used in the production of or services in

the attempt to make an economic profit. The factors of production include
, labour, capital and
In essence, land, labour, capital and entrepreneurshlp encompass
all of the inputs needed to produce a good or service. Land represents
all , such as timber and gold, used in the
production of a good. Labour is all of the that labourers and
workers perform at all levels of an organization, except for the
entrepreneur. The entrepreneur is the individual who takes an
and attempts to make an economic from it by combining all
other factors of production. The entrepreneur also takes onall of the
and rewards of the business. The is all of the tools
and used to produce a good or service.

Exercise 45. Translate into English.

1. ExoHOMIYHI pecypcH, sIKIi YacTO Ha3WBaKwTh (haKTopaMu
BUPOOHHMIITBA, MTOAUISIOTECS Ha 4 Kareropii. 2. Tepmin “3emiis ” ommcye
3eMITIO Uil OYIIBHHUIITBA, a TAKOXK PECYpPCH, SKi MOOYBalOTh i3 3eMii. 3.
IMpast - 1e 3arajpHa  KaTeropis  JIIOACBKUX — 3YCHWIb,  SIKi
BHKOPHCTOBYIOTBCSL UIsI BHPOOHWIITBA TOBapiB Ta mocayr. 4. Icaye
(hiznuHa 1 po3yMoBa mparis. 5. JIIOACEKUI KamiTan - e 3HaHHS, HaBUIKA
Ta TOMNIAMN JIONIEH, SKi MaloTh iM 3MOry BHpOOmSATH. 6. Di3M4HHAN
Kamitaja BKIo4Yae OymiBIi, yCTaTKyBaHHS, IHCTPYMEHTH Ta iHIII
MIPeIMETH, SIKi BHKOPUCTOBYIOTBCS JJIsl BUPOOHUIITBA TOBAPIB Ta ITOCIYT.
7. Uepe3 mBHAKI 3MIiHM TEXHOJOTIM IIOACHKHI Karmitaja 3apa3 MeHIe
3anexnuTh Big ¢GismuHoro kamitamy. 8. IligmpuemHHMIBKI 3M10HOCTI
HEOOXiJTHI IS TMOKpAaImIeHHs TOTO, M0 MU B)K€ MAEMO, 1 JUIS CTBOPEHHS
HOBUX TOBapiB Ta mociyr. 9. Ilizmpuemens Mae OyTH TOTOBUM
OLIIHIOBATH PHU3MK YCIIiXy Ta HEBAUI.

Exercise 46. Learn the following words and word combinations.
tangible - BiIUyTHUI Ha OTUK, MaTepialbHUN
nutrient - IIO)XKMBHA PEYOBHHA
deplete - BUCHQ)XyBaTH, BUYEPITyBATH



enhance - IOJIMIIYBATH, IIOCHUITIOBATH
intangible - HeBimYYTHUMII HA TOTHK, HEMaTepiaTbHUI
utilize - BUKOPUCTOBYBATH

Exercise 47 . Read, translate and give the gist of text 7.
Text 7. Goods and Services

It takes land, labour, and capital that are used by an entrepreneur
to produce goods and services that will ultimately be used to satisfy our
wants. Goods are tangible, meaning they are something that can be seen
or touched. The production of goods requires using limited resources to
produce in order to satisfy wants. An example might be a farmer who
grows grain. The farmer uses farm equipment manufactured from
resources; ground is a natural resource that is used to grow the grain; and
because the growth of grain depletes the nutrients in the soil, the farmer
must use fertilizers to restore the nutrients. Limited resources are used to
produce natural or chemical fertilizers, but they are necessary for crop
production. Water might be used to irrigate the crop and enhance
production. When the crop is ready for harvest, the farmer uses additional
resources to complete the process - equipment, gasoline, labour, and so
on - which results in a good that can be used or sold for use by others.

Services are provided in numerous ways and are an intangible
activity. There is no doubt that one can often see someone providing a
service, but the service is not something that someone can pick up and
take home to use. An example of a service is a ride in a taxi through a
crowded city. It takes resources for the owner or driver to provide the
service, and a passenger is consciously aware of riding in a taxi. When
the ride is completed and the provider has been paid, the passenger does
not have anything tangible to hold except the receipt. However, resources
have been used to provide the service. The automobile used as the cab,
the fuel used to operate the cab, and the labour of the driver are all
examples of resources being used to provide a service that will satisfy a
want.

It is important to understand that because goods and services
utilize resources that are limited, goods and services are also scarce.
Scarcity results when the demand for a good or service is greater than its
supply. Remember that society has unlimited wants but scarce resources.
It is scarcity, then, that causes consumers to have to make choices. If
individuals cannot have everything they want, they must decide which of



the goods and services are most important and which they can do without.

Exercise 48. Give English equivalents.

3aI0BONBHATH  OakaHHS, MaTepiaibHUM, HeMmaTepialbHHU,
BUPOOHUITBO TOBapiB, OONAJHAHHS, BUYCPIYBATH MOXHBHI PEYOBUHHU,
NoOpHBa, BiHOBIIOBATH, 3POIIYBATH, OKPAIYBAaTH, HaJaBaTH MOCIYTY,
KBHTaHIIiA, TaJIbHE, BAKOPUCTOBYBATH.

Exercise 49 . Answer the questions on text 7.

1. What does an entrepreneur use to produce goods and services?
2. What does the word “tangible” mean? 3. What does the production of
goods require? 4. Why are services intangible? 5. Why are goods and
services scarce? 6. What causes consumers to make choices?

Exercise 50 . Match terms on the left with the definitions on the
right.

Term Definition

1. goods a) perceptible by touch

2. services b) make available for use

3. tangible c) the desire of consumers, clients, employers,
etc. for a particular commodity, service, or
other item

4. intangible d) things that are made to be sold

5. supply e) unable to be touched or grasped; not having
physical presence

6. demand f) the amount of a good or service offered for
sale

7. provide g) the action of helping or doing work for
someone

Exercise 51. Put questions to the underlined words and phrases.

1. The production of goods requires using limited resources to
produce in order to satisfy wants. 2. Water might be used to irrigate the
crop and enhance production. 3. Resources have been used to provide the
service. 4. Goods and services utilize resources that are limited. 5.
Scarcity results when the demand for a good or service is greater than its
supply. 6. If individuals cannot have everything they want, they must
decide which of the goods and services are most important and which




they can do without.

Exercise 52. Translate into English.

1. Ilignpuemen> BUKOPUCTOBYE 3€MJIIO, MPaLll0 Ta KamiTai Jyis
BUPOOHUITBA TOBApiB Ta mociyr. 2. ToBapu HemMaTepiaibHi, 0 O3HAYAE,
Mo iX HEMOXIJIMBO MO0AYMTH YM BIAYYyTH Ha JOTHK. 3. OOMexeHi
peCypcH BUKOPUCTOBYIOTBCS JUISS BUPOOHHUIITBA HMPUPOMHUX 1 XIMIYHHX
JOOpUB, ajie BOHU HEOOXITHI [ BUPOIIYBaHHS CLIBCHKOIOCIOIAPChKUX
kynbTyp. 4. Ilocmyru HanaroThcsi OaraThbMma IIUISIXaMH 1 BOHU €
HEMaTepiaIbHOK JisIbHICTIO. 5. JlediuuT BHHMKAE, KOJIU IIOMUT Ha
ToBap ab0 MOCIYry BHUIE, HDX WOro mpomo3utis. 6. Hebiuut 3mymnrye
CTIOXKMBAYiB MPUHAMATH PillICHHS.

Exercise 53. Learn the following words and word combinations.

supply TIPOTIO3MIIist
opportunity cost aNbTepHATHBHA BAPTICTH
equilibrium piBHOBara, 6amaHc

Exercise 54 . Read, translate and give the gist of text 8.
Text 8. Demand and Supply

One of the most basis concepts of economics is supply and
demand. These are really two separate things, but they are almost always
talked about together. Supply is how much of something, such as a
product or service, is available. Demand is the amount of the product or
service that buyers want to purchase. The relationship between supply
and demand has a good deal of influence on the price of goods and
services.

Understanding the law of demand is an important to understand
the relationship between supply and demand. According to the law of
demand, price has a significant effect on demand. Essentially, higher
prices translate into less demand for a product or service. When the price
of an item or service is high, an individual must think that buying the
item may prevent him from being able to afford the purchase of another,
more valuable item. As such, the opportunity cost of that item is too high
and demand for it may be low.

The law of supply is also vital to understanding the relationship
between supply and demand. According to the law of supply, higher
guantities of a product or service are supplied at a higher price. Those
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who produce goods and offer services are willing to supply more at
higher prices because selling their wares at higher prices provides
increased revenues.

The market price of a good is determined by both the supply and
demand for it. In 1890, English economist Alfred Marshall published his
work, Principles of Economics, which was one of the earlier writings on
how both supply and demand interacted to determine price. Today, the
supply-demand model is one of the fundamental concepts of economics.
The price level of a good essentially is determined by the point at which
quantity supplied equals quantity demanded. If this relationship between
supply and demand is attained, the economy is balanced in a state of
equilibrium.

The equilibrium point must be the point at which quantity
supplied and quantity demanded are in balance, which is where the
supply and demand curves cross.

Exercise 55. Answer the questions.

1. What is demand and supply? 2. What are the definitions of the
law of demand and the law of supply? 3. How is the price level of a good
determined? 4. What is the equilibrium point?

Exercise 56. Give Ukrainian equivalents.

Basis concept, to be available, to have a significant effect, to
afford the purchase of more valuable item, to prevent someone from
being able to afford the purchase, opportunity cost, to provide increased
revenues, to determine price, to be balanced in a state of equilibrium,
supply and demand curves.

Exercise 57. Put questions to the underlined words.

1. The market price of a good is determined by both the supply
and demand for it. 2. The equilibrium point must be the point at which
quantity supplied and quantity demanded are in balance. 3. There are
some factors influencing demand for goods, such as the prices of other
goods, consumer incomes etc. 4. Governments intervene in_economies
controlling the supply of money, limiting monopolies and helping private
industries. 5. Income is money of all kinds coming in regularly to a person,
family or organization.6. Active money is money going from man to man
and used by the people in buying and selling goods and services.
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Exercise 58. Decide whether the sentences are true or false.

1. Government regulates demand and supply, imposing ceiling
prices (maximum prices) and floor prices (minimum prices). 2. An
improvement in technology will decrease the supply of goods. 3. The
relationship between supply and demand has a good deal of influence on the
price of goods and services. 4. As consumer income is increased,
demand for goods and services will decrease. 5. The market is in
equilibrium when the price regulates the quantity supplied by
producers and the quantity demanded by consumers.

Exercise 59. Learn the following words and word combinations.

put another way - IHIIMMHK CJIOBaMHU

stocks - akmil

risk-free - HaIWHUN

government bond - ypsamoBe 60proBe 3000B’s3aHHsI, OOJITaIlis
yield - IPHHOCHUTH IIPHOYTOK

get degree - OTPUMATH TUILIOM

Exercise 60. Read, translate and give the gist of text 9.
Text 9. Opportunity Cost

Opportunity cost is the cost of an alternative that must be
forgone in order to pursue a certain action. Put another way, the
benefits you could have received by taking an alternative action. Say
you invest in a stock and it returns 2% over the year. In placing your
money in the stock, you gave up the opportunity of another investment
- say, a risk-free government bond yielding 6%. In this situation, your
opportunity costs are 4% (6% - 2%).

The opportunity cost of going to university is the money you
would have earned if you worked instead. On the one hand, you lose
four years of salary while getting your degree; on the other hand, you
hope to earn more during your career, thanks to your education, to
offset the lost wages.

Opportunity cost cannot always be measured, because it might
be satisfaction that is lost. At other times, however, opportunity cost
can be measured. Here are examples of each. Perhaps a student is
studying hard for a final examination in a difficult course because a
good exam score is critical to achieve the desired grade. Friends call to



invite the student out for the evening. The alternatives are to study or
to have fun. Being wise, the student selects studying instead of going
out. It is difficult to measure the opportunity cost of having fun with
friends.

In the second example, the same studying student is asked to
help someone clean a garage. If the person offers to pay the student
$50 to clean the garage and the student chooses to study, the
opportunity cost is easily measured at $50. In both these examples,
opportunity cost is directly related to what was given up, not any other
benefits that might result from the decision.

Circumstances also play a role in opportunity cost. Sometimes
people are forced into a decision because of circumstances and the
results may not always be optimal. For example, if someone is
planning to relocate to a new city to start a new job and wants to sell a
house before the move in order to be able to purchase a new house in
the new location, the person may sell the house for less than the market
price in order to complete the process. The opportunity cost is the
value of what was given up in order to be able to purchase a new home.
Every time a choice is made, opportunity costs are assumed.

Exercise 61. Answer the questions.
1. What is opportunity cost? 2. Is it always possible to measure
opportunity cost? 3. What also plays a role in opportunity cost?

Exercise 62. Give Ukrainian equivalents:

to be forgone, to pursue a certain action, risk-free government
bond, to earn money, investment, on the one hand, on the other hand,
to offset, critical, to achieve the desired grade, to give up.

Exercise 63. Give English equivalents:

BKJaJaTH TpolIi y I[iHHI TMamnepu, HPHHOCHUTH NPHOYTOK,
3apo0iTHa TUIaTa, TapHUN pe3yJNbTaT E€K3aMEHIB, BECENO HPOBOIUTH
qac, 00CTaBHHU, IepeiXaTH 10 HOBOTO MiCTa, MPOAATH OYAMHOK HIKYE
PUHKOBOT ITiHH.

Exercise 64. Match words with their definitions:
1. opportunity a) the purchase of a financial product or other item
cost of value with an expectation of gaining profitable



returns in the form of interest or income.

2. stock b) a form of payment from an employer to an
employee, where each job, hour or other unit is
paid separately, rather than on a periodic basis.

3. investment c) a form of periodic payment from an employer to
an employee, which may be specified in an
employment contract.

4. salary d) the cost related to the next-best choice available
to someone who has picked between several
mutually exclusive choices.

5. wage e) the original capital paid into or invested in the
business by its founders.

Exercise 65. Form degrees of comparison of the following
adjectives:

big, heavy, outstanding, practical, useful, bad, late, early, cheap,
good, expensive, fresh, rich, little, much, short, easy, comfortable, low,
high, lazy, powerful, tall, large.

Exercise 66. Learn the following words and word combinations.

tradeoff - CIIBBIIHOIIEHHS BUTOIHU (KOPHCTI, 3MCKY) Ta BTpAT
beneficial - kopucHwuii, mpUOYTKOBHIA

stagnation - 3acriif, BIICYTHICTb PO3BHUTKY, CTarHAIlis

pursuit - IparHeHHsI, MOIIYK

Exercise 67. Read, translate and give the gist of text 10.
Text 10. Tradeoffs

The five economic goals of full employment, stability, economic
growth, efficiency, and equity are widely considered to be beneficial and
worth pursuing. Each goal, achieved by itself, improves the overall well-
being of society. Greater employment is typically better than less. Stable
prices are better than inflation. Economic growth is better than
stagnation. Efficiency is better than inefficiency. An equitable
distribution is better than inequality.

However, the pursuit of one goal often restricts attainment of
others. For example, policies that promote efficiency might create
unemployment or policies that improve equity might limit economic
growth.
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Tradeoff is a situation in which the pursuit of one goal limits
achieving another goal.

Consider the example of a tradeoff concerning full employment
and stability: The Central Bank seeks to promote lower rates of
unemployment through expansionary monetary policy. The economy
expands, unemployment falls, and full employment is achieved, but
inflation emerges from the over stimulated economy.

Exercise 68. Put key questions to the text.

Exercise 69. Provide the definitions to the terms: un/employment,
efficiency, equity, inflation, stagnation, distribution, rate, monetary
policy.

Exercise 70. Translate sentences with “to be worth + Gerund”
structure. Provide your own examples.

1. The five economic goals are worth pursuing. 2. The book is
worth reading. 3. The film is worth seeing. 4. The task is worth doing. 5.
The meeting is worth participating. 6. The topic is worth discussing.

Exercise 71. Complete the sentences according to the text.

1. The five economic goals are ... 2. Each goal improved ...
3. However, the pursuit of one goal restricts ... 4. Tradeoff is ... 5. The
example of a tradeoff is ...

Exercise 72. Learn the following words and word combinations.

efficiency - e eKTHUBHICTb, POAYKTUBHICTh

equity - CIIpaBeINBICTh, 00’ €KTUBHICTH

to be relevant to - TOW, IO MAa€ BiJHOMICHHS O CIPaBH,
BAXKIIMBUUI

scarcity problem - mpobJiemMa HecTadi

pervasive - TOM, 1110 PO3MOBCIOKYETHCSI

demand price - [[iHa, SIKY MMOKYIII{i TOTOBI CIUIATHTH

supply price - [[iHa TPOIO3HIIii, TOCTAYaHHS

pinpoint - TOYHO BU3HAYMTH

contend - IPOTHCTOSTH

realm - rayy3b, 00JIaCTb

normative eCONOMICS - HOpPMAaTHUBHA EKOHOMIYHA Teopis (HampsM
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E€KOHOMIYHOI ~ HayKH, SIKUH TpaKkTye

npobieMu €KOHOMIYHHUX inei Ta
€KOHOMIYHOT IOJIITHKH)
equality - piBHICTB

Exercise 73. Read, translate and give the gist of text 11.
Text 11. Microeconomic Goals

| Economic Goals |

— i
Micro Macro
-Efficiency - Full Employment
- Equity - Stability
- Growth

Figure 1. Economic Goals.

Efficiency and equity are the two microeconomic goals most
relevant to markets, industries, and parts of the economy, and are thus
important to the study of microeconomics.

Efficiency. Efficiency is achieved when society is able to get the
greatest amount of satisfaction from available resources. With efficiency,
society cannot change the way resources are used in any way that would
increase the total amount of satisfaction obtained by society. The pervasive
scarcity problem is best addressed when limited resources are used to
satisfy as many wants and needs as possible.

While efficiency is indicated by equality between demand price
and supply price for a given market, there are no clear-cut comprehensive
indicators for attaining this efficiency goal. While it is possible, in theory,
to pinpoint what is needed for efficiency, the complexity of the economy
makes the task difficult to accomplish in practice.

Equity. Equity is achieved when income and wealth are fairly
distributed within a society. Almost everyone wants a fair distribution.
However, what constitutes a fair and equitable distribution is debatable.
Some might contend that equity is achieved when everyone has the same
income and wealth. Others contend that equity results when people receive
income and wealth based on the value of their production. Still others argue
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that equity is achieved when each has only the income and wealth that they
need.

Equity means income and wealth are distributed according to a
standard of fairness. But what is the fairness standard? It could be equality.
Or it could be the productive value of resources. Or it could be need.
Standards for equity moves into the realm of normative economics.

Exercise 74 . Make sure you can translate:

to achieve efficiency, the greatest amount of satisfaction,
equality, complexity of the economy, to accomplish in practice, a fair
distribution, productive value of resources.

Exercise 75. Answer the question.

1. What are the two microeconomic goals? 2. What are they
relevant to? 3. What is efficiency? 4. How is efficiency achieved? 5. How
is efficiency indicated? 6. Why is efficiency difficult to be accomplished
in practice? 7. What is equity? 8. How is equity achieved? 9. What
constitutes a fair distribution? Why is it debatable? 10. What is a standard
of fairness?

Exercise 76. Match the terms and their definitions:
1. distribution a) organized economic activity concerned with
manufacture, extraction and processing of raw
materials, or construction.

2. industry b) the quality of being reasonable, fair .

3. efficiency c) the division of the total income of a community
among its members.

4. equity d) the fulfillment of a desire.

5. satisfaction e) the ratio of the useful work done to the energy
supplied to it.

Exercise 78. Find sentences with the Passive Voice in text 11.

Exercise 79 . Translate into English

1. EdexTuBHICTHP MOCATAETBCA TOMi, KOJIH CYCHUIBCTBO
CIPOMOXHE OTPUMATH MaKCHMaJbHE 3aJIOBOJICHHS 3 HAsBHUX PECYpCiB.
2. EdexTHBHICTb BU3HAYAETHCS PIBHICTIO MK IiHOMIO, SIKY MOKYIIII
TOTOBI CIUIATHTH, Ta IIiHOKW mporno3wuiii. 3. PiBHICTE mocSTaeThCst TOMI,
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KOJTM JIOXOOW Ta JOOpOOYT CIpPaBEAJMBO PO3MOJIIICHI B CYyCHUIBCTBI Y
BIJINIOBITHOCTI IO CTAHJIAPTIB CIIPABEIUIUBOCTI.

Exercise 80. Mind the spelling of the words. Insert the omitted
letters. a . . iev. , scar . . ty, stan. ar., eq . . ty, effi . iency, e . . ality,
soc .. ty, comple. . ty,w..lth,v.. ue.

Exercise 81. Learn the following words and word combinations.

aggregate - CYKy[IHUH, 3araJIbHUI

lessen - 3MEHIIIyBaTH

recession - 3HW)KEHHSI, c1ia]] (BUPOOHUIITBA, TIOMUTY TOILIO)
at hand - HasIBHUM

disruption - po3ma/, opyIIeHHS, TIepepBa Y BUPOOHHIITBI
pursue something - rHaTucs (3a YMMOCH); TIepecIiyBaTu
fluctuation - KOJIMBAHHSI

Exercise 82. Read, translate and give the gist of text 12.
Text 12. Macroeconomic Goals

Full employment, stability, and economic growth are the three
macroeconomic goals most relevant to the aggregate economy and
consequently are of prime importance to the study of macroeconomics.

Full Employment. Full employment is achieved when all
available resources (labor, capital, land, and entrepreneurship) are used to
produce goods and services. This goal is commonly indicated by the
employment of labor resources (measured by the unemployment rate).
However, all resources in the economy - labor, capital, land, and
entrepreneurship - are important to this goal. The economy benefits from
full employment because resources produce the goods that satisfy the
wants and needs that lessen the scarcity problem. If the resources are not
employed, then they are not producing and satisfaction is not achieved.

Stability. Stability is achieved by avoiding or limiting
fluctuations in production, employment, and prices. Stability seeks to
avoid the recessionary declines and inflationary expansions of business
cycles. This goal is indicated by month-to-month and year-to-year
changes in various economic measures, such as the inflation rate, the
unemployment rate, and the growth rate of production. If these remain
unchanged, then stability is at hand. Maintaining stability is beneficial
because it means uncertainty and disruptions in the economy are avoided.
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It means consumers and businesses can safely pursue long-term
consumption and production plans. Policy makers are usually most
concerned with price stability and the inflation rate.

Economic Growth. Economic growth is achieved by increasing
the economy's ability to produce goods and services. This goal is best
indicated by measuring the growth rate of production. If the economy
produces more goods this year than last, then it is growing. Economic
growth is also indicated by increases in the quantities of the resources--
labor, capital, land, and entrepreneurship-used to produce goods. With
economic growth, society gets more goods that can be used to satisfy
more wants and needs-people are better off; living standards rise; and
scarcity is less of a problem.

Exercise 83 . Answer the gquestions.

1. What are the three macroeconomic goals? 2. Why are they
relevant to the study of macroeconomics? 3. When is full employment
achieved? 4. How does economy benefit from full employment? 5. How
is stability achieved? 6. What economic measures are used to indicate
stability? 7. Why is maintaining stability beneficial? 8. How is economic
growth achieved? 9. How is this goal indicated?

Exercise 84. Make sure you can translate:

prime importance, consequently, available  resources,
entrepreneurship, goods and services, the employment of labour
resources, unemployment rate, to lessen the scarcity problem, to achieve
satisfaction, to limit fluctuations, recessionary declines, inflationary
expansions, long-term consumption, to measure the growth, rate of
production, living standards.

Exercise 85. Put special questions to the sentences.

Policy makers are mast concerned with price stability and the
inflation rate.

Exercise 86. Analyze the -ing form.

1. Famous for its Windows operating system, Microsoft is the
world’s Nel software company. 2. Stop trying to make the company
expand. 3. A three-day weekend will reduce the factory’s heating costs.
4. Stability is achieved by avoiding or limiting fluctuations in production,
employment, and prices. 5. Maintaining stability is beneficial because it



means uncertainty and disruptions in the economy are avoided. 6.
Economic growth is achieved by increasing the economy's ability to
produce goods and services. 7. With economic growth, society gets more
goods that can be used to satisfy more wants and needs-people are better
off; living standards rise; and scarcity is less of a problem.

Exercise 87. Learn the words and phrases from the text.

gross domestic product BAJIOBUIl BHYTPIIIHINA TPOIYKT
trough HaWHMKYA TOYKA; JTHO
recovery BITHOBJIEHHS; ITiTHOM

output MPOJYKIIisl; BUITYCK

Exercise 88. Read, translate and give the gist of text 13.
Text 13. Business cycles

Business cycles are more-or-less-regular fluctuations in the level
of economic activity. These are the up and down phases that accompany
the increases or decreases in gross domestic product. Each business cycle
goes through four phases: peak, recession, trough, and recovery. These
are positions on the cycle and indicate the level of income, output, and
employment. Figure 2 is a business cycle with the phases identified. The
peak is the highest point; the declining period is the recession. A deeper,
longer recession is sometimes called a depression. The trough is the
lowest point and recovery is the upwards wing. Although all business
cycles follow the same pattern of peak, recession, troughs, and recovery,
not all cycles are the same. Some peaks are higher than others, some
recessions are longer and more severe, and other variations occur from
cycle to cycle. The lower portions of the cycle are usually accompanied
by high rates of unemployment. Yet upward movements on the business
cycle that reduce unemployment may result in increased inflation. The
term unemployment is frequently used in macroeconomics.
Unemployment means that there are people looking for a job but are
unable to find work at the going wage. There may be work available that
they are not trained to do, or there may be work available in other areas
of the country. But these people cannot find work that they are capable of
doing, that would not require relocating, or that would pay a wage they
are willing to accept.
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Figure 2. Business Cycle

This figure shows the phases of the business cycle. The high point is the
peak, the declining portion is the recession, the low point is the trough, and the
rising portion is the recovery.

Exercise 89. Give Ukrainian equivalents:

more-or-less-regular fluctuations, up and down phases, increases
or decreases in gross domestic product, indicate the level of income,
employment, pattern, to be accompanied by, high rates of unemployment,
to reduce unemployment, to result in increased inflation,
macroeconomics, to require relocating, wage.

Exercise 90. Answer the questions.

1. What is business cycle? 2 What phases does each business
cycle go through? 3. What do positions on the cycle indicate? 4. Are all
cycles the same? 5. What does the term unemployment mean? 6. What
are the main reasons why people can’t find work?

Exercise 91. Find a grammar mistake in each sentence.

1. In some years, most industries is booming and unemployment
is low; in other years, most industries are operating well below capacity
and unemployment is high.2. Periods of economic prosperity are typically
call expansions or booms; periods of economic decline are called
recessions or depressions. 3. During an expansion, not only does output
rise, but also employment rise and unemployment falls. 4. Conversely,
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during a recession, the output of goods and services declines,
employment falls, and unemployment rise. 5. Just as there no regularity
in the timing of business cycles, there is no reason why cycles have to
occur at all. 6. Monetary policy, in particular, appears to have to played a
crucial role in causing business cycles. 7. Since the World War |1, most
business cycles has lasted three to five years from peak to peak.

Exercise 92. Use the words in brackets to make intentions with
“going to”.

e.g. | have decided to accept the job. - I'm going to accept the job.

1. I have decided to leave on the 17" at 9.30 a.m. 2. This is where
we are planning to build the new office. 3. | have decided to buy a BMW.
4. They have decided not to go abroad this year. 5. We have decided to
change our price policy to ease financial stress. 6. | have decided to
understand their businesses and help them meet their goals.

Exercise 93 Learn the following words and word combinations.

solar flare - crlasiax Ha COHII
business inventory - KOMEPIIifiHi TOBapHi 3amacu
GDP (gross domestic product) - BajoOBHii BHYTPIIIIHIi TIPOIYKT
technological innovations - TEXHOJIOTIYHI HOBOBBEIEHHI,
TEXHOJIOT1YHI TOCATHEHHS
spin-off - MOOIYHMIA pe3ynbTaT
refiner - HadTOoIEPEPOOHMI 3aBOJT
replacement level - piBEeHB BiIHOBJICHHS
hands-off attitude - TIO3HIIiST HEBTPYYAHHS
laissez-faire - HEBTPYYaHHS JEPXKABH B EKOHOMIKY
Say's Law - 3ak0oH Ces (3rigHO SKOTO

TIPOITO3HIIiS caMa CTBOPIOE TIOITHT)

Exercise 94. Read, translate and give the gist of text 14.
Text 14. Theories of Business Cycles
There have been many theories attempting to explain the cause of
business cycles. One early explanation was that the business cycle
resulted from sunspots, those solar flares on the surface of the sun. This
theory was based on an observation that the period between peaks of the



business cycle was as long as the period between the peaks of sunspot
activity. Weather, and therefore agricultural activity, is affected by
sunspots, and variations in agricultural output lead to variations in the
total output produced. But the sunspot theory was quietly dropped when a
more careful investigation of solar activity revealed a cycle longer than
first reported.

Another popular business cycle theory stressed variations in the
amount of business inventory. It is difficult for a firm to keep inventories
at a constant level. This variation in inventory affects investment, and
GDP in turn will vary. The inventory theory, however, has a serious flaw.
Just because a situation is true for one business it does not mean that the
situation is true for all businesses together. While the inventories of one
firm are going up, it is likely that those of another firm are going down.
These two movements could counteract each other and leave little
variation in total inventories. The inventory theory by itself does not
explain business cycles.

Technological innovations were also suggested as a source of
business cycles. At random periods of time, significant inventions have
revolutionized a process. Trains, electricity, automobiles, airplanes, and
microchips are such major innovations. Their production and use
provided a new burst in economic activity and greatly increased income,
output, and employment. Not only did the invention and production of the
auto itself affect the economy, but so did its many spin-offs. The initial
invention then required the building of a vast highway system; an oil
supply network of producers, refiners, and distributors; motel systems
and more to service the new innovation. At some point the production of
autos levels off to a replacement level, the highways are built, and
spending is only for maintenance. The result is a decline in income,
output, and employment until the economy is sparked by the next
innovation.

Yet it is difficult to explain why more-or-less-regular business
cycles would occur using this theory of random innovations. And since
we cannot predict the occurrence of the next innovation, the innovation
theory is of little value in forecasting the business cycle.

Classical economics was the way of thinking that governed
economic thought prior to the 1930s. One of its most influential opinions
was that the government should stay out of the macro economy. It was
acceptable for government to interfere with certain activities on the
micro level, such as the regulation of business to encourage more
competitive conditions, or the production of public goods like defense



or education; but no government interference should occur on the macro
level. This hands-off attitude was called laissez-faire. The classical
belief was that any government interference on the macro level would
make conditions worse, not better. Thus, the government could do the
most good in the macro economy by doing the least.

The belief was that the economy has a natural tendency to
equilibrium at only one level — full employment — the most desirable of
all possible outcomes. Thus any recession and period of unemployment
would be limited by the very nature of the business cycle. Left to its own
devices, the economy would automatically return to full employment.
The classical economists relied on various models to support this belief.
One of these models is Say's Law which states that supply creates its
own demand.

It seems likely that at full employment the cycles are a part of the
economy and are bound to occur. Further, Keynes argued that
government action could be used to smooth out the previously mysterious
business cycle. He pointed out that it is possible to reduce the fluctuations
of the business cycle by the use of policy tools. Keynes stated that in
certain situations there was no alternative except for deliberate
interference by government.

Exercise 95. Give Ukrainian equivalents:

to result from sunspots, solar flares, observation, agricultural
activity, business inventory, at a constant level, GDP, in turn, to
counteract each other, at random periods of time; to increase income,
output, and employment; more-or-less-regular, to be of little value, to
stay out of the macro economy, to interfere with certain activities on the
micro level, to encourage more competitive conditions, to have a natural
tendency to equilibrium, unemployment.

Exercise 96. Give English equivalents:

MpUYMHA  GKOHOMIYHMX  IHKIIB,  CUIbCBKOTOCIIOAapChKa
MPOJYKIIiS, BaJOBUI TPOJYKT, MATH CEPHO3HHMH HEMONIK, 3a0e3MeunuTH
HOBHI TOMTOBX B EKOHOMIUHIA MisUTBHOCTI, mepeadaynTH TOABY
HOBOBBEJICHb, BIUIMBOBA TOYKA 30pY, TMOBHA 3aWHSTICTh, KOJWBaHHS
€KOHOMIYHOTO IIHKITY, TTOJIITHYHI IHCTPYMEHTH.

Exercise 97. Answer the questions.



1. What is one of the early theories attempting to explain the cause
of business cycles? What is it based on? 2. What was another popular
business cycle theory? Did it make sense? 3. Why were technological
innovations suggested as a source of business cycles? 4. Is it possible to
explain business cycles using the theory of random innovations? 5. What
was one of the most influential opinions in classical economics prior to
the 1930s? 6. What activities was it acceptable for government to
interfere with? 7. What is the French synonym to “hands-off attitude” in
business? 8. What does Say’s Law state? 9. What did Keynes point

out?

Exercise 98. Match the terms with their definitions.

1. technological
innovations

2. John Keynes

3. classical
economics

4. Say’s Law
5. business
cycles

6. GDP

7. full
employment

a) the recurring and fluctuating levels of

economic activity that an economy experiences over
a long period of time.

b) the amount of goods and services produced in a
year, in a country.

c) a school of economic thought that began with
Adam Smith’s writing of the “Wealth of Nations” in
1776.

d) the process through which new (or improved)
technologies are developed and brought into
widespread use.

) an economic proposition named after the French
businessman and economist Jean-Baptiste Say
(1767-1832).

d) a situation in which all available labour
resources are being used in the most

economically efficient way.

e) a British economist whose ideas have profoundly
affected the theory and practice of modern
macroeconomics, as well as the economic policies of
governments.

Exercise 99. Learn the following words and word combinations.

workforce

- poboua cuia
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frictional unemployment - ppukuiiine, TuMUacoBe 6e3po0ITTS

cyclical unemployment - IUKJTIYHE 0e3po0iTTS
structural unemployment - CTPYKTYpHE 6e3p00iTTs
seasonal unemployment - ce30HHE 6€3pO0ITTS
criterion (pl. criteria) - KpuTepin

Exercise 100. Read, translate and give the gist of text 15.
Text 15. Unemployment

Not everyone who wants a job can find one. On one day in any
recent year, around 900,000 men and 600,000 women in the United
Kingdom are unemployed. During a recession, unemployment rises
above this level and during an expansion, it falls below this level.

Macroeconomists study unemployment to determine methods to
control this serious economic problem.

An internationally recognized definition of unemployment is a
state in which a person does not have a job but is available for work,
willing to work and has made some effort to find work within the
previous four weeks. The total number of people who are unemployed on
this criterion plus the number of people employed is called the workforce.
The unemployment rate is the percentage of the people in the workforce
who are unemployed.

Unemployment means lost production for the economy and loss
of income for the individual. One type of unemployment is frictional
unemployment, which includes those people who are not employed
because they have been fired or have quit their job. Cyclical
unemployment follows the cycles of the economy. For example, during a
recession, spending is low and workers are laid off because production
needs are reduced. Structural unemployment occurs when a job is left
vacant because a worker does not have the necessary skills needed or a
worker does not live where there are available jobs. Some unemployment
is due to seasonal factors; that is, employees are hired only during certain
times of the year.

To help lessen the problem of unemployment, the government
can use its powers to increase levels of spending by consumers,
businesses, and the government itself and by lowering taxes or giving tax
incentives, which makes available more money with which to purchase
goods and services. This in turn puts more laid-off workers back to work.



Exercise 101. Give English equivalents:

0e3po0iTTs, pUHOK mpami, 0e3podbiTHH, poboua cuia, piBeHb
0e3pobiTTs, dpukniiiHe 0e3pobITTs, MUKIiYHE 0e3pO0ITTs, CTPYKTYpHE
0e3po0iTTs, Ce30HHE 0e3pO0ITTS, 3BUILHATH, HAWMATH, TOKUHYTH pOOOTY,
CKOpO4EeHi pOOITHUKH, TIOAATKOBI MIIBIH.

Exercise 102. Complete the sentences with the types of
unemployment.

1. unemployment includes those people in the process
of relocating from one job to another.

2. unemployment is expected when workers are laid
off during the off season.

3. unemployment occurs when the economy slows

down, and there are more unemployed people than there are
available jobs.

4. unemployment occurs when there are many people
unemployed while there are many jobs available, but the
unemployed lack the necessary qualifications for the jobs.

Exercise 103. Classify the following as frictional, seasonal,
cyclical, or structural unemployment.

1. Aunt Ettie fires her elderberry pickers at the end of the season. 2.
Cousin Clyde lost his job when the sales of his firm and other firms went
down. 3. Cousin Katy got tired of the cold, quit her job in Cleveland last
week, and found a new job in Orlando. She starts next month. 4. Barney
went to school to be a blacksmith and cannot find a job.

Exercise 104. Fill in the blanks with the words from the box.

unemployment work force underemployed seasonal (2)
rate
cyclical ( 2) frictional (2) structural (2) employment

Those employed and those unemployed but looking for work
make up the . The percentage of the work force that is
unemployed is measured by the . When workers cannot
find full-time jobs equal to their skills, they are classified as
.The major types of unemployment are ,




, and . People who are voluntarily

between jobs compose unemployment. Workers laid off
during the off season compose unemployment. When the
economy slows down, unemployment occurs. When people

lack the qualifications for the available jobs, we experience
unemployment. We may have a 5 or 6 percent unemployment rate yet
some economists may call this full

Exercise 105. Answer the questions.

1. Why do macroeconomists study unemployment? 2. What is
unemployment? 3. What is called workforce? 4. What is unemployment
rate? 5. What are the four types of unemployment? 6. What can the
government do to help lessen the problem of unemployment?

Exercise 106. Translate into English.

1.be3pobiTTs - 1e craH, KOJM JIIOJMHA HE Mae pOOOTH, Xodya €
Mpare3aTHO, Oakae MpaIoBaTH W JIOKJalla TMEBHUX 3yCHJIb JJIs
omryky po6otu. 2. PiBeHb 0e3p00OITTS — IIe  BIACOTOK IMpare3qaTHOTO
HAaceJeHHS, SKi He MaioTh poOoTH. 3. be3poliTTs o3Hauae BTpadcHE
BUPOOHMIITBO TSI EKOHOMIKH Ta BTPAdYeHUN TOXid 711 OKpeMoi ocoow. 4.
Huxoriaae 0e3po0iTTS BUHHKAE BHACTIIOK KOJIWBAaHh EKOHOMIKH. O.
Opukrrifine 0e3po0ITTS BUHUKAE, KOTH poO0Yi THMYACOBO 3HAXOMSATHCS
6e3 pobotu B pe3ynbpTaTi 3MiHH Micis npari. 6. CTpykTypHe 6e3po0iTTs
— BWHUKAa€ B pe3yabTaTi 3MIHH CTPYKTYPH EKOHOMIKH, HAIPHUKIA],
BHACHIIOK TeXHoNorigHoi peBomorii. 7. Ce3onHe 0e3pol0iTTs —
pe3yNbTaT MPUPOJHUX KONUBAHb KITIMATHYHUX YMOB MPOTSITOM POKY 200
KOJTUBaHb MOIHUTY.

Exercise 107. Learn the following words and word combinations.

the natural rate of unemployment - npupoaniit piBeHb 6e3p00ITTS
retire - TH y BifIcTaBKy a00 Ha MEHCIf0
labour force - poboua cuJia, MpaIliBHUKH, KaJapH
downsize - 3MEHIIIYBaTH, CKOPOIYBaTH

fail - 3a3HATH HEBJAYi, 30aHKPYTYBaTH

Exercise 108. Read, translate and give the gist of text 16.
Text 16. Full Employment
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There is always some unemployment — even at full employment.
So what do we mean by full employment?

Full employment occurs when there is no cyclical unemployment —
when all the wunemployment is frictional and structural. The
unemployment rate at full employment is called the natural rate of
unemployment.

There can be quite a lot of unemployment at full employment, and
the terms “full employment” and “natural rate of unemployment” are
examples of technical economic terms that do not correspond with
everyday language. For most people — and especially for unemployed
workers — there is nothing natural about unemployment. So why do
economists call a situation with a lot of unemployment one of “full
employment” and “natural unemployment”?

The reason is that the economy is a complex mechanism that is
always changing. In 2003, the UK economy employed 28 million people.
About a half a million workers retired during that year and more than half
a million new workers entered the labour force. All these people worked
in several million businesses that produced goods and services valued at
more than £1 trillion. Some of these businesses downsized and failed, and
others expanded.

This process of change creates frictions and dislocations that are
unavoidable. And the unemployment the process creates is unavoidable.
Natural unemployment and full employment refer to that state of the
world in which the unemployment that exists stems from the natural
frictions and dislocations that constantly bombard our lives.

Exercise 109. Give English equivalents:

TOBHA 3alHATICTH, MPHUPOIHiN piBeHb 0e3po0iTTs, poboua cuuia,
3MEHIIYBAaTUCSA,  3a3HaTH  HEBJadi,  PO3MIMPIOBATHCS,  HE3TOIH,
MOPYIIEHHS, HEMUHYTIM.

Exercise 110. Give definitions to the terms: unemployment, full
employment, natural rate of unemployment, labour force.

Exercise 111. Complete the definitions with the words from the
box.

economy wages macroeconomics
unemployment cyclical work force
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In , full employment is a condition of the national
, Where all or nearly all persons willing and able to work at

the prevailing and working conditions are able to do so. It is
defined either as 0% , literally, no unemployment (the rate
of unemployment is the fraction of the unable to find

work), or as the level of employment rates when there is no
unemployment.

Exercise 112. Discuss the questions.
1) In which countries is the unemployment rate above the natural rate?
And in which countries is it below the natural rate?
2) If the unemployment rate is below the natural rate, what do you
think will happen to the economy if the government does nothing?
3) If unemployment rate is above the natural rate, what do you think
the government of that country should do about it?

Exercisel13.Learn the following words and word combinations.

intermediate - TIPOMIKHIIHA

double counting - MOABIMHMI, TOBTOPHMIA PaXyHOK
value - BapTiCTh

approach - TiAxim

interest - BIICOTKHM (Ha KaIritain)

Exercise 114. Read, translate and give the gist of text.
Text 17. GDP

Total economic spending, which includes consumer, business,
and government spending, determines the level of the gross domestic
product (GDP), which is the market value of all final products produced
in a year’s time.

GDP is one of the most commonly used measures of economic
performance. An increasing GDP from year to year shows that the
economy is growing. The nation’s policy makers look at past and present
GDPs to formulate policies that will contribute to economic growth,
which would result in a steady increase in the production of goods and
services. If GDP is too high or growing too rapidly, inflation occurs. If
GDP is too low or decreasing, an increase in unemployment occurs.

The definition of GDP stresses that we find the value of all final
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goods. This means that we do not count the production of a good more
than once. When we count the value of the intermediate products as well
as the value of the final product, we are double counting. This occurs
when the value of steel is counted as output along with the value of
automobiles. The value of steel has been counted twice — once in its
production and again as a part of the value of the automobiles; the iron
ore that went into the steel was counted three times.

To avoid double counting, only the value of the final good is used
to find GDP. Final goods are those sold at retail. The final value includes
all the intermediate production that went into the good; therefore, the sum
of all the final values measures the total production of the society.

We can find GDP from an output approach by adding up the
final value of the total output of the economy. Remember that output and
income are identical, and so we should also be able to find the same GDP
figure by using an income approach. The income approach to GDP is
found by adding all income received by the factors of production. Rent,
wages, interest, and profit sum together to give the identical GDP figure
obtained from the output approach. We think of GDP as a measure of
both output produced and income earned. In the future, when we mention
income do not think of your paycheck — but think of GDP instead.

A third method of finding GDP is the spending or expenditure
approach. This approach divides the economy into four sectors and looks
at how much each sector spends. The sectors are consumers, business,
government, and foreign. Everything that is produced is purchased by one
of these four sectors. That which is not purchased, business “purchases”
in inventory. Thus, all production is accounted for as the sum of total
spending. The sum of all expenditures by consumers, business,
government, and the foreign sector makes up the expenditure approach
to gross domestic product.

Exercise 115. Give English equivalents:
BaJIOBW BHYTPIMIHIN TMPOIYKT, HEp>KaBHI BUTPATH, PHHKOBA
BapTICTh, KiHIIEBI TOBAPH, TPOMIKHI MTPOAYKTH, POy KIList, TOXi]I.

Exercise 116. Match the halves of sentences.

1. The gross domestic product a) that went into the good.
2. When we count the value of the b) that the economy is growing.



intermediate products as well as
the value of the final product,
3. The final value includes all the c¢) by adding up the final value of

intermediate production the total output of the economy.
4. We can find GDP from an d) is the market value of all final
output approach products produced in a year’s
time.
5. Output and income e) we are double counting.
6. The income approach to GDP is f) are identical.
found
7. An increasing GDP from year to @) inflation occurs.
year shows
8. If GDP is too high or growing h) by adding all income received
too rapidly, by the factors of production.

Exercise 117. Answer the questions.
1. What is GDP? 2. What is double counting? 3. What approaches can we
find GDP by? 4. What does an increasing GDP show? 5. What occurs
when GDP is too high/ too low?

Exercise 118. Translate into English.

1. 3aranpHi €KOHOMIYHI BHTPATH BHU3HAYAIOTH PIBEHH BaJIOBOTO
BHYTPIHBOrO TMpoaykTy. 2. BBII- e puHKOBa BapTicTh BCIX KIHIIEBHX
MPONYKTIB, BUPOONeHUX 3a pik. 3. [Tokaznuk BBII, skuit 30imbIyeThes 3
POKY B DpiK, TOKa3ye, mo ekoHomika 3poctae. 4. Sxmo BBII 3amaaro
BHCOKHM a0 3pocTae 3aHAATO MBHUAKO, Mae€ micme iHQUmisa. 5. Skmio
BBIl 3amanto HH3BKHI a00 3MEHIIYETHCS, TMiABHUINYETHCS piBEHBb
0e3pobirts. 6. BBII MokHa BU3HAYATH TPHOMA METONAMH —
BUPOOHUYHM, 33 JIOXOJJAMH Ta 32 BUTPATAMHU.

Exercise 119. Learn the following words and word combinations.

securities - [[IHHI Tanepu

assets - AKTUBU

fallacy - IOMUJIKA, TTIOMHUIIKOBIiCTh

determinant - BUIIIAIbHUN, BU3HAYAIBHUH (haKTOp

Exercise 120. Read, translate and give the gist of text 18.
Text 18. Consumption



The largest part of GDP is consumer expenditure, or consumption.
Consumers are households buying goods and services for consumption.

Consumption is the purchase of goods and services by households.
We buy food, clothing, entertainment, transportation, and so much more.
Purchases of financial securities and other forms of personal
“investment” are not counted as consumption since we cannot eat them,
live in them, drive them, or in other ways consume them. These
purchases are not consumption but merely a transfer of assets between
individual consumers or between consumers and business, and are a form
of saving.

Consumption was defined as the yearly total of all purchases of
goods and services by consumers. Consumption is more than
consumption by an individual household; consumption is an aggregate, a
macro concept. Macro is concerned with the total consumption of all
consumers. What causes consumption to rise or fall?

The main factor is income, real GDP. The direct relation between
the level of income and the level of consumption is shown by the
consumption function. John Maynard Keynes was one of the first to point
out this consumption relation.

Generally, we expect people to buy more goods and services as
income rises. As income rises, so does consumption. As income falls, so
does consumption.

Income is an important determinant of the level of consumption.
But beware of the fallacy of composition. We are not concluding that
aggregate consumption goes up as aggregate income rises just because
one person consumes more as income rises. We are concluding that the
macroeconomic variable consumption is directly related to the
macroeconomic variable income. This is a simple but rather important
observation. The level of total income will determine the amount of total
consumer spending.

Exercise 121. Give English equivalents:
CHOXHMBYI  BHTpaTH, KyMiBJIsA, I[iHHI [arepd, AaKTUBH,
3a0MIa/pKeHHs, QYHKIIIS CIIOKUBAHHS, BUPIIATBHINA (HaKTOp.

Exercise 122 Answer the questions.
1. Who are consumers? 2. What is consumption? 3. Why are
purchases of financial securities not counted as consumption? 4. What



does consumption function show? 5. What is the relation between the
level of income and the level of consumption? 6. What will the level of
total income determine?

Exercise 123. Translate into English.

1. HaiiGinpmy 4YacTuHY BajOBOTO BHYTPIIIHBOTO MPOAYKTY
CKJIaJIaf0Th CIOXKWBYI BUTpaTh. 2. CIIOKUBAHHSA - 1Ie KYIIiBJIsl TOBapiB Ta
MOCITYT JIOMAalIHIMK TocrofapcTBamMu. 3. KymiBis ¢iHaAHCOBUX MiHHUX
marnepiB Ta iHOI (OpM OCOOMCTHX IHBECTHIIH HE BBAXKAIOTHCS
cnoxuBaHHsIM. 4.  ODyHKIiIS  CHOKHBAaHHS  [OKa3ye  MpsiMe
CHIBBITHOIIEHHSI MIX PIBHEM JOXOAY Ta piBHEM cnoxuBaHHs. 5. Komu
JIOX1J1 3pocTae, AU KyMyIOTh Oiibine ToBapis i mociyr. 6. Komu moxin
najae, piBeHb CIIOKUBAHHS TAKOXK 3MEHIITYETHCS.

Exercise 124. Complete the text with the words from the box.

income GDP macroeconomics income output
micro macro expenditure consumption interest
profit expenditure microeconomics wages
Two major views of economics are and
economics. The study of the individual parts of the economy
is . The study of the economy as a whole is
. Our focus is now on macroeconomics. What society
earns through production is called . The total income of the
economy is equal to the total . The total dollar value of all final

goods and services produced during the year is measured by
The GDP figure can also be found through the
approach and the approach. The income approach adds all
income to the resource owners, rent as well as , and
. Total spending of the four sectors of the economy ylelds the
approach. Purchases by consumers is

Exercise 125. Read, translate and give the gist of text 19.
Text 19. Investment
Investment is the commitment of money or capital to purchase
financial instruments or other assets in order to gain profitable returns in



the form of interest, income, or appreciation of the value of the
instrument. Investment is related to saving or deferring consumption.

An investment involves the choice by an individual or an
organization such as a pension fund, after some analysis or thought, to
place or lend money in a vehicle, instrument or asset, such as property,
commodity, stock, bond, financial derivatives (e.g. futures or options), or
the foreign asset denominated in foreign currency, that has certain level
of risk and provides the possibility of generating returns over a period of
time. When an asset is bought or a given amount of money is invested in
the bank, there is anticipation that some return will be received from the
investment in the future.

Investment is a term frequently used in the fields of economics,
business management and finance. It can mean savings alone, or savings
made through delayed consumption. Investment can be divided into
different types according to various theories and principles.

While dealing with the various options of investment, the
defining terms of investment need to be kept in mind.

Investment in terms of Economics

According to economic theories, investment is defined as the per-
unit production of goods, which have not been consumed, but will
however, be used for the purpose of future production. Examples of this
type of investments are tangible goods like construction of a factory or
bridge and intangible goods like 6 months of on-the-job training. In terms
of national production and income, Gross Domestic Product (GDP) has
an essential constituent, known as gross investment.

Investment in Terms of Business Management

According to business management theories, investment refers to
tangible assets like machinery and equipments and buildings and
intangible assets like copyrights or patents and goodwill. The decision for
investment is also known as capital budgeting decision, which is regarded
as one of the key decisions.

Investment in Terms of Finance

In finance, investment refers to the purchasing of securities or
other financial assets from the capital market. It also means buying
money market or real properties with high market liquidity. Some
examples are gold, silver, real properties, and precious items.

Financial investments are in stocks, bonds, and other types of
security investments. Indirect financial investments can also be done with



the help of mediators or third parties, such as pension funds, mutual
funds, commercial banks, and insurance companies.

Personal Finance

According to personal finance theories, an investment is the
implementation of money for buying shares, mutual funds or assets with
capital risk.

Real Estate

According to real estate theories, investment is referred to as
money utilized for buying property for the purpose of ownership or
leasing. This also involves capital risk.

Commercial Real Estate

Commercial real estate involves a real estate investment in
properties for commercial purposes such as renting.

Residential Real Estate

This is the most basic type of real estate investment, which
involves buying houses as real estate properties.

Exercise 126. Answer the questions.

1. What is the main purpose of investment? 2. What choice does
an investment involve? 3. In what fields is the term “investment” usually
used? 4. What can investment represent in terms of tangible and
intangible goods? 5. What is investment in terms Finance?

Exercise 127. Find the synonyms in the text: investment, profit,
goods, securities.

Exercise 128 . Give the definition of the following terms: GDP,
tangible goods, intangible goods, leasing, renting, mutual funds, return on
investment, net profit.

Exercise 129. Learn the following words and word combinations.

disposable income - J0Xim, sAKUP 3alUIIMBCA IIICHS  BUILUIATH
MOJIATKIB, BHECKIB TOIIO

subtract (from) - BigHiMaTH

yield - IPUHOCUTH MPUOYTOK

save - 3a011a/DKyBaTH

marginal propensity t0 - rpaHnYHa CXWIJIBHICTH JI0 CIO)KUBAHHS



consume (mpc)

Exercise 130. Read, translate and give the gist of text 20.
Text 20. Taxes

As the saying goes, taxes, like death, are certain. Taxes are paid by
both consumers and business. Before consumers make any consumption
or saving decision, taxes are taken out of their income. When there are
taxes, the consumer makes the consumption decision based on disposable
income, where disposable income is income after taxes. This is true for
the individual consumer as well as all consumers together at the macro
level. Total tax collections are subtracted from income to yield disposable
income. Disposable income can be either spent or saved by consumers.
The impact of taxes is to reduce the income available for spending and
therefore lower consumption. Similarly, saving will also be lower at each
level of income because part of the income that would be saved now goes
for taxes.

The consumption function describes how consumption changes
when income changes. This information is summarized in the marginal
propensity to consume, which is the change in consumption due to a
change in income.

There are many kinds of taxes on individuals, but all have the same
effect of reducing consumption. As long as the consumer does not save
every added dollar of income, an increase in taxes will cause
consumption to fall. If the consumer saves every extra dollar of income,
an increase in taxes will make only saving fall. In every other case, part
of the money paid in higher taxes may come from saving, but the
remainder will come out of consumption. A reduction in taxes will have
the opposite effect on consumption. Lower taxes are like an increase in
income - suddenly there is more disposable income. Some of the increase
in income that would have been tax payments may go into saving, but
part will go into additional consumption. Thus a change in taxes will have
an effect on consumption and also, as we know, on the level of income.
Taxes have the identical effect on investment as on consumption. An
increase in taxes reduces investment; a reduction in taxes increases
investment. Taxes have the potential to change the level of income, as
does government spending.

Exercise 131. Complete the sentences according to the text.



1. The saying goes ... 2. Taxes are paid by ... 3. Taxes are taken
out of income ... 4. The consumer’s consumption decision is based on ...
5. Disposable income is ... 6. MPC is ... 7. All taxes have the same effect
on ... 8. Taxes have the potential ...

Exercise 132. Make sure you know the following word-
combination:

to impose / levy a tax; to collect taxes; tax assessment; tax
revenue; individual income tax; profits tax; tax rate; tax evasion; heavy
tax; to lower / reduce tax rates; after tax; before tax; tax on land; real
estate tax; property tax; death tax; highway tax; payroll tax;
unemployment tax; single tax; taxation, taxpayer; be liable to tax; tax
collector.

Exercise 133. Match the terms and their definitions.
1. value-added tax a) a term levied on retail sale receipts and added
to selling prices by retailers

2. excise tax b) a tax paid on motor vehicles in use on the
road
3. sales tax c) a selective tax - sometimes called a

consumption tax - on certain goods produced
within or imported into a country.

4. road tax d) a tax levied on the difference between the cost
of materials and the selling price of a
commodity

Exercisel34. Put questions to the underlined word-combination.

1. He already pays 40% tax on his income. 2. The total tax
burden has risen only slightly. 3. The government has introduced tax
incentives for fuel-efficient cars. 4. They may be taxed at a higher rate.
5. Cigarettes are heavily taxed in Britain. 6. The individual is taxed on the
amount of dividend received.

Exercise 135. Give English equivalents.

NpUiMaTH PIlICHHS MPO 3a0M[aJUKCHHS, OKPEMHUIl CIOXHBaY,
JOXiM TICNsS BUIUIATA TOJATKIB, 3HHU3UTU PIiBEHb JOXOMIB, BIUIMB,
IpaHUYHA CXWIBHICTh JIO CIIOKWBAHHS, IOAATKOBI BHUILIATH, OJHAKOBHIA
BIUTUB, MPOTWISKHHUA PE3yNbTaT, JEPKaBHI BUTPATH, CIPUYUHATH



maiHHS.

Exercise 136. Translate into English.

1. TlomaTok - Lle BUIUIATH, SKUMH Jep)KaBa OOKJIanae JHOJCH,
Koproparlii Ta iHIII eKOHOMIYHi cy0’ekTH (TOOTO (i3W4HI Ta IOPUIHYHI
ocobm). 2. 3aBAsKku TMomaTKaMm, Jiep)kaBa Ma€ KOIITH JUIs  CBO€T
nisutbHOCTI. 3. [lomaTku HOCATH MPUMYCOBUI xapakrtep. 4. IcHye GaraTto
TUITIB TIOJATKIB: HA JOJaHy BapTICTh, 3E€MIII0, HEPYXOMICTh, CIIAJIOK,
NpUOYTOK, TpaHCHOPTHHIA 30ip Tomto. 5. [logaTkoBa MoJiTHKA B KOXKHIN
nepxaBi BimpisHseTbes. 6. [lomaTkoBl HAJXO/HKCHHS KOHTPOIIOKOTHCS
MOJATKOBUMH 1HCIIEKTOPAMH 3 IOAATKOBOT'O YIPABIiHHSI.

Exercise 137. Discuss in groups.
1. Taxes, like death, are certain.
2. Evading the payment of taxes.

Exercise 138. Learn the following words and word combinations.

generate revenue - oTpUMyBaTH JOXOIH
estimate - OL[IHIOBATHU

dam - namba

welfare - colianpHe 3a0e3neyeHHs
tax revenue - HaIXOHKEHHS BiJI ITOIATKIB
surplus - HAJUIAIIIOK

aggregate demand - cykymHwMi MOMAT

economic tool - eKOHOMIYHHH IHCTPYMEHT

Exercise 139. Read, translate and give the gist of text 21.
Text 21. Government Spending

How is the federal budget prepared? The amount of revenue that
will be generated from taxes is estimated, and government spending
decisions are made. In some cases there are projects that were started in
earlier years that require payment to continue — perhaps the purchase of
aircraft carriers, or the building of dams or highways, or the provision of
welfare benefits. There will be new projects to fund, like special space
missions or research projects on energy. When the spending is totaled, it
can be compared to the tax revenue. If the revenue is less than spending,
a deficit occurs. If the revenue is greater than spending, a surplus results.
If the deficit is too large, the budget may be adjusted either by raising



taxes or lowering spending. Similarly, if the surplus is too large,
expenditures may be increased or taxes lowered.

Government expenditures have the same impact on the economy
as consumer consumption or business investment. An increase in any one
serves to speed up the economy; a reduction in any one serves to slow
down the economy.

Note that the business and consumer sectors cannot spend at will.
Investment is dependent on the level of interest, and consumption is
dependent on the level of income. This is not true of the government
sector. Most government spending is independent of both the interest rate
and income. Thus the interest rate and level of income do not keep the
government from spending more. However, government too encounters
opportunity cost.

Government spending can be used as an economic tool. An
increase in government spending increases aggregate demand. What the
government purchases, or the reasons for its purchase, make no
difference in the impact of its spending. Simply the fact that government
has increased spending will increase total spending and therefore the
level of aggregate demand. Similarly, a decrease in government spending
will reduce the level of aggregate demand.

The ability of the government to tax provides another economic
tool. An increase in taxes on consumers will reduce consumption and
therefore aggregate demand. The same impact results from an increase in
taxes on business. A reduction in taxes on consumers will increase
consumption, and a reduction in taxes on business will increase
investment. Either reduction in taxes will increase spending and
aggregate demand. Thus the ability of the government to tax or spend will
affect aggregate demand and the direction of the economy.

The decision to tax and the decision to spend by government can
be made independently.

Exercise 140 . Give the order of steps to be taken:

- to determine whether deficit or surplus occurs;

- tototal the spending

- to make decisions on further actions (to increase expenditures or
lower taxes)

- to estimate the amount of revenue generated from taxes

- to make government spending decisions



- to compare the total spending to the tax revenue

Exercise 141. Look up in the dictionary and write down all
definitions of the word “will”. Translate the sentences.

1. The business and consumer sectors cannot spend at will. 2. An
increase in taxes on consumers will reduce consumption. 3. You’d better
make a will. 4. What is lacking is the political will to get anything done
about global warming. 5. He claims the police forced him to sign a
confession against his will. 6. She was willing herself not to cry. 7.With
the best will in the word, I don’t see what I can do more.

Exercise 142. Mind that these words can function both as nouns
and verbs. Make up sentences to show it:

impact, result, increase, demand, examine, cost, tax, benefit,
purchase, project, pay, aggregate, decrease, level.

Exercise 143 . Translate into English.

1. bromkeTHO-TTIOMaTKOBA TIOJITHKA 3IACHIOETHCS  dYepes
MMOJTATKOB1 CTaBKH Ta IIUIBIH, PO3MOAUT TMOJATKOBHX HAJXOIKEHBb 3a
pPIBHSMHU OIOKETHOI CHCTEeMH (MICIIEBHM, CEPENHIM Ta IEHTPAIBHHUM),
IIEBHY CTPYKTYpPY BUTpaT, OajaHCYBaHHS OIOKETIB TOIIO0.2. 3aXOmaMu
TPOIIOBOI TMOJITUKK € HOPMH OAaHKIBCHKHUX Pe3epBIB Ta MDKOAHKIBCHKHUX
KpEIWTIB, HOPMH BIJICOTKIB 3a OOJNIramissMid Ta TEPMIHH IX BHITYCKY,
perymoBaHHsS TpomoBoi 6a3u. 3. 3aBASKH LM 3aXOIaM JOCSATAETHCA
30LTpIeHHs (a00 3MEHIIeHHsI) CYKYITHOrO TIONHTY, CTUMYJIOBaHHA (260
CTpUMYBaHHS) BHPOOHHUIITBA UYepe3 BIUIMB HAa KPEAWT Ta IHBECTHIIIl
tomo.4.Y MeXax COIMialbHOI IONITHKK SK 3aCO0M BUKOPHUCTOBYIOTHCSH:
mudepeHITiioBaHe OMOAaTKYBaHHS JOXOIB, OOOB'A3KOBE CTpaxyBaHHS
mo 0e3po0iTTI0 Ta BTpaTi Mpare3faTHOCTI, pPi3HI BHUOM COIiATBHOT
noromorn. 5.B pesympTaTi mpx 3axofiB 3abe3meuyeTbcs HEOOXimHUN
MIHIMYM CIIO)KMBaHHSI, IE€PEPO3MOAUISIOTECS JOXOIH, OOMEXYEThCS
0e3po0iTTs, TAPaHTYETHCS 3IMCHEHHS COIIATBHUX TporpaM (TiITPUMKH
cimM'i, 3a0e3ledyeHHS IKUTIOM, IiJBUIIEHHS pIBHA OCBIYEHOCTI Ta
KyJIbTypH TOIIO). 6. 3aco0aMu 30BHILIHHOEKOHOMIYHOI MOJITHKU €
MOJIATKH, TIPOIIEHTH 3a IHBECTHUIliSIMHM, TMJITA BUPOOHHMKAM, IO
NpaLiolOTh Ha EKCHOPT, 3MIHM y BaJIOTHOMY Kypci. 7. Hacmigkom
BHUKOPHUCTaHHS IIMX 3aC00IB MOXE CTaTH CTHUMYJIIOBaHHS a00 0OMEKEHHS
EKCIIOPTHUX MOXIIMBOCTEH AepkaBu. 8. [lo THIMOBHX aaMiHICTpaTUBHHUX



3ac00iB HalleKaTh: IJIAHYBaHHS OOCATIB BHUPOOHHMITBA Ta LiH IS
MIJIPUEMCTB, Yepe3 sKi 3MIHCHIOEThCS TMPUPOIHA JISpKaBHA MOHOIIONIS,
AHTHMOHOIIOJIbHE PETYJIOBAHHS Ta MPOTHJIS 3aTYXaHHIO KOHKYPEHIII,
po3poOKa Jep:kaBHUX HOPM Ta CTaHAApTIiB (MiHIMalbHOI 3apIuiaTy,
SIKOCTI BHPOOIB, WIKIJIMBUX BUKUIB Y JOBKULIA), JIIICH3YBaHHS
EKCIIOPTY, KOHCEPBYBAHHS YaCTUHU HAIIOHAJILHUX PECYPCIB, OOMEKCHHSI
BHPOOHUIITBA MO0 JACIKUX HOro BUIIB UM Ha MEBHUX TEPUTOPISX.

Exercise 144. Learn the words and phrases from the text.

market power - MO3UIIis HA PUHKY; BJIaJia HA PUHKY
revenue - IOXIJ

Exercise 145. Read, translate and give the gist of text 22.
Text 22. Revenue and Market Structure

Firms frequently make decisions that affect the revenue of other
firms. For example, when a firm changes the price of its good, not only
will it affect its own revenue, but it may affect the revenue of other firms
as well. This ability to control price is called market power. Market
power relates the revenue of one firm to another. The extent to which
firms possess market power varies and depends on the market structure of
the industry.

Market structure refers to the elements of market organization
that affect the behavior of the firms. Three elements identify the market
structure: the number of firms in the market, freedom of entry, and the
degree to which the product is standardized.

First, what effect will the number of firms in the market have on
market power? As the number of firms in a market increases, the control
any one firm is likely to have over price decreases. Suppose that there is
only one firm in the market. Then the firm can choose a price and sell the
guantity demanded by the market. In that sense the firm is the market. As
soon as there is more than a single firm, each firm suddenly comes under
pressure in its choice of price. If one firm sets price above the other firm,
the low-price firm has an advantage.

The freedom of entry, or the ease with which a firm is able to
enter the market, determines the number of firms in the market. Easy
entry means that a firm can obtain the necessary technology and
resources to become a seller in the industry.

Another element that determines market structure is how



standardized the product is. A product is standardized if the consumer
cannot distinguish the output of one firm from the output of another. The
products seem identical. Two farmers growing the same grade of wheat
produce a standardized product. On the other hand, cars produced by one
firm are readily distinguishable from cars produced by another firm. Cars
are a differentiated, not a standardized, good. The more standardized the
good, the harder it will be for any producer to control the price. If your
good is differentiated, you are able to control price. Because your good is
different, you know that some consumers will pay a higher price. If the
products are differentiated, the firm has some power over price.

Exercise 146. Give Ukrainian equivalents:

to make decisions, to affect the revenue, to possess market
power, freedom of entry, to determine, affect the behavior of the firms,
low-price firm, on the other hand, obtain the necessary technology and
resources.

Exercise 147. Answer the questions.

1. What are the elements of market structure that generate market
power? 2. What effect will the number of firms in the market have on
market power? 3. What role does the freedom of entry play for the firm?
4. What is the difference between standardized and differentiated
products? 5. How does the degree to which the product is standardized
control the price?

Exercise 148. Complete the sentences with words from the text.

1. The ability of a firm to control price is called ... 2. As the
market power of firms increases, the revenues of the firms become
related. 3. The amount of market power depends upon the market ... 4.
The elements of market structure include the number of ..., the freedom
of ..., and the degree to which the product is ... 5. As the number of firms
in a market increases, the control any one firm is likely to have over price
... 6. The freedom of entry is the ease with which a firm is able to ... the
market. 7. A product is standardized if the consumer cannot distinguish
the ... of one firm from the output of another. 8. The products seem
identical.

Exercise 149. Translate into English.
1. Bnama Ha pUHKY — 1€ 3/4aTHICTh KOHTPOJIIOBATH L[iHM Ha



PHHKY, BOHAa MO)KE 3MIHIOBATHCS Ta 3aJI€XHUTH BiJl CTPYKTYPHU PHHKY. 2.
Tpu eneMeHTH, MO BU3HAYAKOTH CTPYKTYPY PHHKY, BKIIOYAIOTH B cebe
KUTBKICTh ¢)1pM Ha  PHHKY, BUIBHUH BHUXiJi Ha PHHOK Ta CTYIIHb
cranfapTHu3auii npoaykuii. 3. Yum Oinbllie cTaHAapTU30BaHUN MPOAYKT,
TUM Ba)Ku€ BHUPOOHHMKOBI KOHTpOJIIOBaTH MiHYy. 4. Skmio omgHa dipma
BCTAHOBIIIOE 1[IHY HUKYY 3a iHIIY, TO ¢ipMa 3 HUKYOIO I[IHOI Ma€ BUII
o0csirM MpoAaXx Ta MpUOYTKH. 5. BimbHUE JOCTYyNm 1O TEXHOJOTIH Ta
pecypciB 103BoIIsE BipMaM BUTbHO BUXOJUTH Ha PUHOK.

Exercise 150. Complete the multiple-choice tests.

1.
a.
b.

Qo

Qoo w o0 od

ook

o

C.
d.

Revenue is:

a fee paid on borrowed assets.

income that a company receives from the sale of goods and
services to customers.

the total amount of money the firm spends.

none of the above.

If there are many firms in a market, then it is likely that:
all firms have market power.

no one firm can control price.

the product is an essential one.

there are barriers to entry.

Which product is standardized?
Grade A eggs.

Subcompact cars.

Size medium shirts.
Left-handed baseball gloves.

The freedom of entry determines:
the opportunity cost.

money and inflation.

the number of firms in the market.
fixed and floating rates.

A product is standardized if :

it is used for non-business purposes.

it is sold at, or below, the retail price.

stores charge less than the wholesale price.

the consumer cannot distinguish the output of one firm from the


http://en.wikipedia.org/wiki/Multiple-choice_test
http://en.wikipedia.org/wiki/Fee
http://en.wikipedia.org/wiki/Income
http://en.wikipedia.org/wiki/Corporation
http://en.wikipedia.org/wiki/Product_%28business%29
http://en.wikipedia.org/wiki/Product_%28business%29
http://en.wikipedia.org/wiki/Retail

output of another.

Exercise 151. Practise “ever and never + Present Perfect”. Write
guestions using the prompts. See the example.

e.g. you/ever/be/one of the conferences?
Have you ever been to one of the conferences?

1. you/ever/be/Kyiv before? 2. you/ever/work for international
company? 3. you/ever/learn English? 4. you/ever/eat/sushi? 5. you/ever/
visit Germany? 6. you/ever/ organize conference like this?

UNIT Il. ECONOMIC ACTIVITY OF AIRLINES

Exercise 1. Learn the following words and word combinations.

complex interaction CKJTaJIHa B3a€MOJIis
foster CIIPUATH

intangible benefits HeMaTepiabHi IIepeBaru
surface transport Ha3eMHUU TPaHCTIOPT

Exercise 2. Read, translate and give the gist of text 1.

Text 1. The role of air transport in civil economic and social

development

Civil aviation, through a complex interaction with other
economic sectors, benefits from and contributes to the economic
development of nations. As incomes and production levels increase, the
demand for aviation services expands; at the same time by fostering
tourism, trade and employment, aviation is an important instrument in
economic development. Air transport also provides intangible benefits by
facilitating increased international contact and understanding.

As economic activity increases, so does the extent of business
travel and with it the need for the speed and convenience of air transport
services. Also, as personal income and available leisure time increase, air
tourism becomes increasingly popular.

Freight transport by all modes increases as interregional trade
expands, and since the more dynamic sectors of industry often rely



heavily on air transport for distribution of their products, the demand for
air freight services tends to grow faster than the demand for surface
transport.

Air transport widens the markets for many types of product and
promotes the interchange among nations of ideas, professional experience
and skill. Because of the increasingly important role of air transport in the
economic development of countries and regions, it is important to take
due account of the economic and social benefits which an efficient air
transport system can offer, and to ensure that future air transport needs
are properly assessed together with the associated financial and human
resources that need to be provided.

Exercise 3. Answer the questions on text 1.

1. How does civil aviation influence the development of nations?
2. Why does the demand for air transport expand? 3. Why is aviation an
important tool for economic development? 4. What does the increase of
economic activity result in? 5. When does freight transport increase? 6.
What does air transport widen? 7. Why is it important to take due account
of the economic and social benefit offered by air transport?

Exercise 4. Find English equivalents:

CKJaJiHAa B3a€MOisl, OTPUMYBATH KOPWCTh, POOMTH BHECOK B
€KOHOMIYHHMI PO3BHUTOK, PIBEHb TOXOMIB, PIBEHb BUPOOHHIITBA, TIOITUT HA
aBiallifHi TOCIyTH, COPHUATA TypU3My, TOPTiBIi Ta 3alHATOCTI;
MBUAKICTh Ta 3pYYHICTH aBiaTpPaHCIIOPTY, HAsBHUI BUTPHUN Yac, MaTH
TEHJICHIIIFO JIO IIBUIKOTO 3pOCTaHHSI.

Exercise 5. Form all possible derivatives: to produce, to employ,
to promote, to distribute.

Exercise 6. Make sure you can translate:

surface transport, to rely heavily on, to widen the markets, to
promote interchange, to take due account, to ensure and assess the needs,
to provide financial and human resources, interchange among nations,
professional experience and skills.

Exercise 7. Match the terms and their definitions.
1. tourism a) the part of the transport that travels by land



rather than by air or under the sea.

2. trade b) the business of providing things for people to
do, places for them to stay while they are on
holiday.

3. employment c) the activity of buying, selling, or exchanging
goods.

4. freight transport  d) the condition of having a paid job.
5. surface transport  e) transport that carries goods.

Exercise 8. Learn the following words and word combinations.

permanent MOCTIHHUT

means 3aciod

matter MU TaHHS

Air traffic control VYIpapiiHHS TOBITPSHUM PYXOM,
JUCTIETYEPChKa CITy>K0a

airworthiness IpugaTHICTH 0 eKCIuTyaTarii

facilities 3acobu 00CITyTrOBYBaHHS

implementation 3aMpOBaPKEHHS

consequence Hacminok, pe3ynbprat

vary 3MIHIOBATHUCS

Take into account Bpatu 1o yBaru

Exercise 9. Read, translate and give the gist of text 2.
Text 2. International Civil Aviation Organization (ICAO)

In November 1944 a Convention on International Civil Aviation
was signed by 52 States which set up the permanent International Civil
Aviation Organization (ICAO) as a means to secure international co-
operation at highest possible degree of uniformity in regulations and
standards, procedures and organization regarding civil aviation matters.

There are two major activities of ICAO:

a. those which cover generally applicable rules and regulations
concerning training and licensing of aeronautical personnel both in the air
and on the ground, communication systems and procedures, rules for the
air and air traffic control systems and practices, airworthiness
requirements for aircraft engaged in international air navigation as well as



their registration and identification, aeronautical meteorology and maps
and charts.

b. those concerning the practical application of air navigation
services and facilities by States and their coordinated implementation in
specific areas.

To meet the latter objective it was agreed to sub-divide the
surface of the earth into a number of “regions” within which distinct and
specific air navigation problems of a similar nature existed. A typical
example of this process is illustrated by a comparison of the so-called
"North Atlantic Region (NAT)", where the primary problems concern
long-range overseas navigation, with the "European-Mediterranean
region (EUR)" where the co-ordination of trans-European operations with
domestic and short-range international traffic constitutes the major
problem. As a consequence of the above ICAO adopted the concept of
Regions and Regional Offices on the understanding that any regional
activities could vary from Region to Region taking into account the
general economic, technical or social environment of the Region
concerned.

Exercise 10. Answer the questions on text 2.

1. When was ICAO set up? 2. What is the aim of ICAO ? 3.
What major activities does ICAO cover? 4. Why was the surface of the
earth sub-divided? 5. What do regions share? 6. Why do activities of
ICAO vary from Region to Region?

Exercise 11. Make sure you can translate:

permanent organization, to secure cooperation and uniformity,
means, applicable rules, implementation, to meet the latter objective,
primary problems, long-range overseas navigation, to adopt the concept.

Exercise 12. Mind the pronunciation:

licensing, aeronautical personnel, procedures, airworthiness
requirements, registration, identification, consequence, navigation, air
traffic control, meteorology, surface.

Exercise 13. Complete the sentences with the correct word
(consequence, navigation, air traffic control, meteorology, surface).
1. The scientific study of weather conditions is ... . 2. The


http://www.icao.int/icao/en/hist/history04.htm
http://www.icao.int/icao/en/hist/history04.htm

process or job of giving instruction to pilots by radio is ... . 3. The
science or job of planning which way you need to go when traveling from
one place to another ... . 4. Something that happens as a result of a
particular action or set of condition is ... . 5. The top layer of an area of
water or land is ... .

Exercise 14. Insert prepositions: in, by, against, on, of, at, on to, of.

The Chicago Convention ... International Civil Aviation has

been amended ... 18 Annexes which contain the regulatory information
... specific problems.

.. recent years the aviation industry has seen the emergence ...
world-wide attacks ... the safety and security ... the traveling public,
airlines, and aircraft. Acts ... unlawful interference have also occurred ..
airports and airline facilities.

Annex 17 prescribes International Aviation Security Standards
and Recommended Practices.

Annex 18 regulates dangerous goods transportations, while
Annex 8 is devoted to Airworthiness of Aircraft.

ICAO publishes “ICAO Bulletin” (a monthly journal) which
contains necessary information for aviation specialists.

Ukraine joined the International Civil Aviation Organization ...
1991 and ratified all main legislative and regulatory documents ... ICAO.

Exercise 15. Give title and put questions to the text.

ICAO has a responsibility under its founding Chicago
Convention of 1944 to promote the free, expeditious and unimpeded
passage of an aircraft and its occupants across international boundaries.
The most important is the establishment of the goal to clear all the
passengers requiring the normal inspection at major international airports
within 45 minutes of disembarkation, regardless of the aircraft size and
scheduled arrival time.

The need to prevent terrorism and the requiring to suppress
trafficking in narcotics and to guard against the rising tide of illegal
immigrants (inadmissible persons) have led governments around the
world to tighten security. New methods are technologically advanced
screening equipment: metal detectors, x-ray scanners, bar-code scanners,
mass spectroscopy, chemiluminescence and low-energy  neutron
bombardment for detection of narcotics, weapons and other restricted



items.

Exercise 16. Speak on ICAO using the scheme.
ICAO

International Civil Aviation Organization

Year of foundation: 1944
Main document: Chicago Convention,
December 7, 1944,
Signed by 52 contracting
states
Headquarters: Montreal (Canada)
The main body The Assembly
The exw)dy/ The Counci\
Air Navigation Legal Finance | Economic
Committee Transport Commission: | Committ | Committee:
Committee ee:
regularity and | efficiency of | recommendatio | financial | technical
safety of flights | inter air | ns on the issues | activities | assistance
transportatio | of of ICAO | to
n international air developing
law countries

Exercise 17. Learn the following words and word
combinations.

equidistant PiBHOBITAJICHU I

inscribe HaJIACYBATH

wreath BIHOK

conventional Tpanumiiaui,
3arajJibHONPUAHSITUN

incorporation 3nuTTA, 00€IHAHHS

Cyrillic character Jlitepa 3 KupuaHLi

Exercise 18.Read, translate and give the gist of text 3.




Text 3. ICAO Emblem

Figure 1. The ICAO Emblem

The United Nations emblem constitutes the basis of the ICAO
emblem. The design adopted for the UN emblem may be described as
follows: a map of the world on a north polar azimuthally equidistant
projection inscribed in a wreath of crossed conventional branches of an
olive tree; the projection extends to 60 degrees south latitude and includes
five concentric circles, all except the central circle being divided into
octants, with the Greenwich meridian as the lower vertical axis. The two
symbols composing the UN emblem are the olive branch, which can be
traced back to ancient Greece as a symbol of peace and the world map,
which depicts the area of concern to the United Nations in achieving its
primary intended purpose of maintaining international peace and security.

In 1955 United Nations authorized the use of the United Nations
emblem with the design of the wings superimposed to serve as the
official emblem of ICAO.

The incorporation of the initials “ICAO” and “OACI” refers to
the English, French and Spanish denominations of the International Civil
Aviation Organization as the original text of the Convention on
International Civil Aviation had been drawn up in those three languages.

The Union of Soviet Socialist Republics USSR became the 120th
member of ICAO on 14 November 1970. In 1971 the Russian language
was introduced as a fourth official language of ICAO. It should be noted
that the Cyrillic characters adopted for the emblem do not correspond to
the initials of the Organization in Russian, but rather the transliteration of



the English ICAQ.

The Chinese Language was adopted as one of the working
languages of ICAO in 1977.

In 1986 Arabic was approved as a working language at ICAO.
The Arabic inscription emblem is not an Arabic word but a transliteration
from the English.

The compilation of the various emblems used by ICAO since its
inception has shown a consistent evolution of the design according to the
languages used by the Organization, with however the accent put on
having a pattern close to the emblem of the United Nations, embracing
the world through the spirit of cooperation to achieve the safe and orderly
development of civil aviation.

Exercise 19. Answer the questions on text 3.

1. What is the basis of the ICAO emblem? 2. What is the design
of the UN emblem? 3. What are the meanings of the two symbols
composing the UN Emblem? 4. What three languages appear on the
ICAO emblem? Why? 5. What language was introduced as a fourth
working language of ICAO? When? 6. What do the Arabic and the
Chinese inscriptions mean? 7. What does the compilation of the ICAO
emblems show?

Exercise 20. Make sure that you know:

north polar, a wreath, projection, conventional branches, axis,
south latitude, to depict, the area of concern, primary purpose, maintain
peace and security, incorporation, denomination, transliteration,
compilation.

Exercise 21. Complete the sentences according to the text.

1. The UN emblem constitutes ... . 2. The olive branch comes
from ... and means ... . 3. The world map depicts ... . 4. The working
languages of ICAO are ... . 5. The incorporation of the initials “ICAO”
refer to ... . 6. To embrace the world through the spirit of cooperation to
achieve the safe and orderly development of civil aviation is ... .

Exercise 22. Translate the sentences. Mind the meanings of the
word “character”. Put a question to the word in bold.
1. Openness is at the heart of the American character.



2. Everyone recognized Disney’s cartoon characters. 3. The campaign
was accused of character assassination because of its negative ads.

The Chinese characters differ from the Cyrillic ones.

Exercise 23. Learn the following words and word combinations.

scheduled traffic peryJsIpHi peiicu
awareness 00i3HaHICTh
impact BIUINB
stakeholders aKIioHepH
expertise KOMITETEHTHICTh
complexities CKJTa THOIII

Exercise 24. Read, translate and give the gist of text 4.
Text 4.International Air Transport Association (IATA)

Air transport is one of the most dynamic industries in the world.
The International Air Transport Association (IATA) is its global trade
organization.

Over 60 years, IATA has developed the commercial standards
that built a global industry. Today, IATA’s mission is to represent, lead
and serve the airline industry. Its members comprise some 230 airlines -
the worlds leading passenger and cargo airlines among them -
representing 93 percent of scheduled international air traffic.

IATA seeks to improve understanding of the industry among
decision makers and increase awareness of the benefits that aviation
brings to national and global economies. It fights for the interests of
airlines across the globe.

IATA’s aim is to help airlines help themselves by simplifying
processes and increasing passenger convenience while reducing costs and
improving efficiency. Safety is IATA’s number one priority, and IATA’s
goal is to continually improve safety standards. Another main concern is
to minimize the impact of air transport on environment.

IATA ensures that people and goods can move around the global
airline network as easily as if they were on a single airline in a single
country. In addition, it provides essential professional support to all



industry stakeholders with a wide range of products and expert services,
such as publications, training and consulting. IATA’s financial systems
also help carriers and the travel industry maximize revenues.

For consumers, IATA simplifies the travel and shipping
processes, while keeping costs down. Passengers can make one telephone
call to reserve a ticket, pay in one currency and then use the ticket on
several airlines in several countries.

IATA allows airlines to operate safely, securely, efficiently and
economically under clearly defined rules.

IATA serves as an intermediary between airlines and passenger
as well as cargo agents via neutrally applied agency service standards and
centralized financial systems.

A large network of industry suppliers and service provides
gathered by IATA provides solid expertise to airlines in a variety of
industry solutions.

For governments, IATA seeks to ensure they are well informed
about the complexities of the aviation industry to ensure better, long-term
decisions.

IATA’s aims are:

1. To promote safe, regular and economical air transport for the
benefit of the peoples of the world, to foster air commerce, and to study
the problems connected therewith;

2. To provide means for collaboration among the air transport
enterprises engaged directly or indirectly in international air transport
Service;

3. To cooperate with the International Civil Aviation Organization
(ICAO - the specialized United Nations agency for civil aviation) and
other international organizations.

Exercise 25. Answer the questions on text 4.

1.What does IATA stand for? 2. What industry is one of the most
dynamic? 3. What is IATA’s mission? 4. What/Who are the members of
IATA? 5. What does IATA seek? 6. What does IATA fight for? 7. What
are the priorities of IATA? 8. What does IATA provide for consumers
fairlines/ industry suppliers/governments? 9. What are the aims of IATA?

Exercise 26. Make up your own sentences using the following
word combinations:



to develop the standards, to build a global industry, to increase
awareness of the benefits, to simplify the process, to reduce costs, to
improve efficiency, to minimize the impact (on), to provide support to
stakeholders, a wide range of products and services, to maximize
revenues, shipping process, solid expertise, a variety of solutions, to
inform about complexities, to ensure long-term decisions, to foster air
commerce.

Exercise 27. Translate into English.

1.3aBasxu poboti IATA nacaxupu MOKYTh OPOHIOBATH KBHTOK 10
TenedoHy, CIUIa4yBaTH B OJHIM BAIIOTI, a MOMOPOXKYBATH MO Pi3HUM
kpainam. 2.JATA Hajgae mnepeBard BCIM 3alliKaBJICHUM CTOPOHAM:
CIIOXKMBayaM, aBiaKOMIIAHISAM, IMOCTaYaIbHUKAM, BAaHTKHHM arcHTam,
ypsnam Tomo. 3.JIATA crBopuiia 4iTKO BU3HAUECHI NPaBWIIa 3 YCIiX BHUIIIB
IisubHOCTI B aBiamidHid ramys3i. 4.Came IATA 3a0e3nedye Bci
ABTOTPAHCIIOPTHI  MiANpUEMCTBA 3acobamu i cmiBnpaii.5.JATA
HaMara€TbCsl MOKPAIUTH B3A€EMOPO3YMIHHS MDK CTPYKTYpamH, SKi
rmocepenHbo abo Ge3mocepeHbO 3amydeHi y cepy aBiartii.

Exercise 28. Speak on IATA using the scheme.

IATA

International Air Transport Association

Year of foundation: 1945 in Havana
Main document: Montreal, Geneva
Affiliates: more than 200 airlines
The main body General Annual Meeting
The executive body | The Executive Committee

— A N

Financial Legal Technical Traffic Medical
committee committee committee | committe | committe
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accounting and the legal cooperation the all
settlement bet- ground on among air- | commer- | physio-
ween airlines, which the lines in cial logical




currency and whole operational | activities | and
exchange, structure of | and technical of the | psycholo
taxation, interline matters airlines, | gical
charges, agreement exchange | factors
insurance, and of traffic | which
statistics documenta- between | might
tion is based airlines | affect
safety,
comfort
and
efficiency
of air
crew and
passenger
S

Exercise 29. Put questions to the sentences.

1. IATA deals with the non-political aspects of air transport
operation. 2. TATA’s budget is financed from the dues paid by its
members, largely in proportion to the part of the total international air
traffic which each carries. 3. Some IATA activities are self-supporting
through charges for services rendered.

Exercise 30. Learn the following words and word combinations.

jet plane - PpEaKTHBHHIA JIITAK

propeller airplane - TBUHTOBHIA JIiTaK

trunk line - TOJIOBHA MOBITPSHA JIHIsI
feeder line - JIOMIOMDXKHA TIOBITpsIHA JTiHIs

scheduled flight -
non-scheduled flight
to make a reservation -

peryIsipHi peiicu
HEperyJsipHi pelicu
OpoHrOBaTH MicIle (Ha JITaKy)

jumbo jet - BEJIUKHI PEaKTUBHHIA JIITAK
charters - YapTepHi pelicu

in-flight service - o0ciyroByBaHHS ITif 4ac peicy
aisle - Tpoxig

departure gate - MiCIle BUXOAY 3 a€pOBOK3aJy Ha MOCAAKY



passenger compartment MaCaKUPCbKUN CAJIOH

reclining seat - BIOKMAHE KpiclIo
maintenance - TexXHIYHE 00CITYroBYBaHHS
air traffic control - LEHTP KepYBaHHS MOBITPSIHUM PyXOM

ground service personnel

Ha3eMHUH 00CIyroBYIOUHIA TEpCOHAI

Exercise 31. Read, translate and the gist of text 5.
Text 5. Airline services

The airlines of the world offer many varieties of services in many
different kinds of aircraft. Transcontinental and transoceanic flights are
made in giant jet planes, some of which can carry several hundred
passengers on each flight. Smaller jets are commonly used on the shorter,
more heavily travelled routes between major centres of population —
Paris-London, for example, or New York-Chicago. In contrast to the jets
are propeller airplanes, which are slower and smaller than the jets. Many
different kinds of propeller planes fly on short routes into small airports.

There are several ways in which airline service can be divided
into categories. One distinction is between trunk lines and feeder lines.
Trunk lines are those which operate between major population centres.
New York to San Juan, Puerto Rico, is an example of a trunk route.
Feeder lines, which are sometimes called local lines, connect smaller
cities and towns with each other or with the major centres and the major
airports.

Airline passenger service can be divided into scheduled and non-
scheduled flights. A scheduled flight leaves at the same time on the same
day to the same destination. The schedule for the flight is published by
the airline in its timetable. The passenger can make a reservation in
advance for a scheduled flight with the reasonable expectation that the
flight will leave at a certain time and go to a certain place regardless of
the number of passengers who have tickets for the flight. Many scheduled
flights often carry only a small number of passengers.

A non-scheduled flight depends on the availability of passengers
and aircraft. Non-scheduled flights may carry only a few passengers in a
small plane, or they may carry hundreds of people on a jumbo jet. These
latter flights are often called charters. Charters are especially popular
with groups on vacation since they usually cost much less than scheduled
flights on the same routes. Scheduled airlines often provide non-
scheduled services — particularly charter flights — during the tourist



season.

On the flight itself, there is usually a distinction between first
class and economy, which was formerly known as tourist class. The first
class passenger has more space and receives more in-flight service. In
most modern jets, the seating plan in first class is usually two seats on
each side of the aisle; in economy there are usually three seats side by
side. The first class seats are usually farther apart so that the passenger
has more room for his legs. To the passenger, the chief difference
between first class and economy may well be the cost — first-class fares
are much higher than economy fares.

Many airlines offer one-service flights, especially on short,
heavily travelled routes. In the USA on a few routes, notably New York-
Washington, New York-Boston, and Los Angeles-San Francisco, there
are shuttle flights. The passenger does not have to make a reservation in
advance, and he pays for his ticket either at the departure gate or on the
flight itself.

A final distinction is between passenger and freight (or cargo)
service. In the early days of the airlines, freight was usually carried in the
baggage compartment of the plane. In some cases, freight was even
carried in the passenger compartment. In this event, the reclining seats
were taken out, the passengers sat in “bucket seats” along the sides of the
plane, and the freight was strapped down in the middle of the
compartment. Nowadays, small shipments may still be carried in the
baggage compartment, but there are also special planes which provide
both scheduled and non-scheduled air freight service. Some of these
planes are converted from passenger aircraft; others are specially
designed to carry freight. With these special planes, freight in bulk can be
moved by air, though the cost is usually considerably higher than surface
shipment.

The airline industry is still very young, but it is growing rapidly
often occupying an increasingly important place in the economy of many
nations. In some areas of the world, air service is the only effective means
of public transportation. Today the airlines carry millions of passengers
every year on both local and long-distance flights. They employ
thousands of people to handle the passengers and freight that they carry.

Many of these people work in various technical jobs where they
have little or no direct contact with the public — in aircraft maintenance or
air traffic control, for example. Thousands of others, however, come into



daily contact with the travelling public. They include reservations and
ticket agents, ground service personnel, cabin attendants and other flight
personnel, and many others.

Exercise 32. Translate into Ukrainian:

to offer many varieties of services, giant jet planes, propeller
airplanes, to fly on short routes, trunk lines, feeder lines, scheduled and
nonscheduled flights, destination, to depend on the availability of
passengers and aircraft, a jumbo jet, in-flight service, first class and
economy (tourist) class, to have two seats on each side of the aisle,
heavily traveled routes, shuttle flights, to make a reservation in advance,
to pay for the ticket either at the departure gate or on the flight itself,
passenger and freight service, to be carried in the baggage compartment
of the plane, the reclining seats, “bucket seats”, to be strapped down in
the middle of the compartment, to be converted from passenger aircraft,
to be designer aircraft, to be designer to carry freight, freight in bulk, to
employ thousands of people, to handle passengers and freight, aircraft
maintenance, air traffic control, to have little or no direct contact with the
public.

Exercise 33. Name the following definitions:

a journey made by air, esp. in an aircraft; a very large aircraft
with one or more jet engines; an aircraft with two or more blades, fixed to
a revolving rod for propelling; lines which connect smaller cities and
towns with each other or with the major centers and the major airports;
lines which operate between major population centres; flight which is
performed due to the depends on the availability of passengers and
aircraft, the hiring of an aircraft for a particular purpose or group of
people; a passage between rows of seat in an aircraft; flight performed by
aircraft with the most comfortable accommodation; the cheapest class of
air travel (second class).

Exercise 34. Define the following terms:
trunk lines, feeder lines, scheduled flights, charter flight, first
class flight, economy (tourist) class flight, shuttle flight.

Exercise 35 . Answer the questions.
1. What services do the airlines of the world offer? 2. What



flights are made in giant jet planes? 3. What routes are smaller jets
commonly used on? 4. Why do many kinds of propeller planes fly on
short routs into small airports? 5. What is the distinction between trunk
lines and feeder lines? 6. What flights can airline passenger service be
divided into? 7. What distinction is there between scheduled and non-
scheduled flight? 8. When are charters especially popular? 9. What
distinction is there between first class and economy class flight? 10.
When do airlines offer shuttle flights? 11. What do you know about
passenger and freight service? 12. Why are some planes converted from
passenger aircraft into freighters? 13. Why is the airline industry growing
rapidly often occupying an increasingly important place in the economy
of many nations?

Exercise 36. Name and analyze the use of tense-form in text 5.

Exercise 37. Learn the words and word combinations from the

text.

handle (process) - 00CIIyroByBaTH; 00poOIATH

terminal building - aepOBOK3all

passenger and baggage-handling - CTiiiKa 00CIyroByBaHHS

(processing) counter nacaxupis Ta 00poOKK Oaraxy

ticket counter (booking office) - GiyrleTHa Kaca

check-in counter - cTiliKa peecTpaii Hacaxupis

baggage claim area (luggage - 30Ha OTPUMAaHHsI Oaraxy

retrieval)

information counter (inquiry office) - indopmariiiina criiika (10BiaKOBE
010p0)

information board - iHdopmariiine TabI0

telecommunication facilities - 3aCO0H TEIEKOMYHIKAIIii

flight catering activities - cimy»0a 60pTOBOrO XapuUyBaHHS

cash advances on credit card - BH/1a4a TOTIBKH 32 KPEIUTHOO
KapTKOrO

money order - TPOILIOBUH TepeKas

foreign currency exchange - 00MiH iHO3€MHOI BAIFOTH



ATM (automated teller machine) - OaHKOMAT

lounge (or lobby) - 3aJ1 a€POBOK3aJIy
Wi-Fi (wireless Internet service) - Oe3npoBinHuil [HTEpHET, MEpeka
Wi-Fi

Exercise 38. Read, translate and give the gist of text 6.
Text 6. Airport passenger facilities

Modern airports handle a lot of international and domestic
passengers. Terminal building of the airport provides passengers with a
variety of activities any airline needs:

- passenger and baggage-handling (processing) counters such
as ticket counters (booking offices), check-in counters;

- baggage claim area or luggage retrieval,

- an information counter (inquiry office), and information board;

- telecommunication facilities;

- mail express and light cargo processing;

- flight catering activities.

In the terminals passengers can purchase tickets, check or claim
luggage and board aircraft through the gates. There may be situated duty-
free shops, various gift shops and newsstands, a post-office department, a
first-aid room, chemist's, hairdresser's, mother-and-child room (a nursery
for passengers with small children), toilets, left-luggage department,
luggage lockers, lost and found.

Often bank may be located in the ticket lobby next to the post
office. Services offered include cash advances on credit cards, traveller’s
checks, money orders, foreign currency exchange, and ATM machines.

All airports aim at ensuring better convenience and comforts for
airline passengers. An airport lounge (lobby or concourse) is a central
hall where passengers may rest while waiting for their flights. It offers
phone, fax, free Wi-Fi (wireless Internet service), enabling airport visitors
to stay connected to their home or office. Major airports offer other
business services, along with television, newspapers, and magazines to
enhance comfort. At lounges, passengers will also find more comfortable
seating and quieter environments than in the airport terminal. Besides
offering more comfortable seating, lounges usually provide beverages
like coffee, water, soft drinks, juices, beer and other alcoholic beverages.
Lounges also provide snacks like fruit, pastries and cheese. Airline
lounges frequently offer free or reduced cost food, as well as beverages.
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Some airport structures include on-site hotels built within or
attached to a terminal building. Airport hotels have grown popular due to
their convenience for transient passengers and easy accessibility to the
airport terminal.

Exercise 39. Give Ukrainian equivalents:

to handle a lot of international and domestic passengers, terminal
building, to provide passengers with something, passenger and baggage-
handling (processing) counter, baggage claim area or luggage retrieval,
to check or claim luggage, information board, to purchase ticket,
newsstand, post-office department, chemist's, hairdresser's, cash advances
on credit card, post office, foreign currency exchange, ATM machines, to
aim at ensuring better convenience, airline passengers, flight, to enable
airport visitors to stay connected to their home or office, to enhance
comfort, beverages, to offer free or reduced cost food.

Exercise 40. Translate into English:

CydacHHWU aepomopT, o0pobka Oaraxy, 0OCIyroByBaHHS
rmacaXupiB, OUIETHA Kaca, CTiiiKa peecTparlii, 30Ha OTPUMAaHHS Oaraxy,
iHdopmariiitna crifika (IOBiAKOBEe OOp0), 3aco0M TEICKOMYHIKAITIH,
MOIITa, CICTM Ha JITaKk, MaraspH OE3MUTHOI TOpPTiBJi, CYBCHIPHHIA
MarasuH, MEIITYHKT, JUTSYa KiMHAaTa, KaMepa CXOBY, OarakHa mmadka
(ceitd), Oropo B3HAXIMOK, MOPOXKHIA dYeK, TPOIIOBHI Tepekas, 3al
aepoBOK3aTy, Oe3mpoBiAHWUN IHTEpHET, MPOMOHYBAaTH MLTOBI IOCIYTH,
0e3aJIKOT OJTbHI HATION.

Exercise 41. Answer the questions.

1. What does terminal building of the airport provide passengers
with? 2. What can passengers do in the terminals? 3. What is situated in
the terminals? 4. What banking services are provided at the airport?
5. How do all airports ensure better convenience and comforts for airline
passengers? 6. What may passengers also find at lounges? 7. What do
some airport structures include?

Exercise 42. Complete the sentences using words from the box.

dentist’s hairdresser’s florist’s barber’s
doctor’s baker’s butcher’s chemist’s
grocer’s greengrocer’s



http://en.wikipedia.org/wiki/Hotel
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http://en.wikipedia.org/wiki/Beverage

1. T go to the ... to have dental treatment and keep my smile
healthy and sparkling. 2. At ... people can have their hair cut, washed and
arranged. 3. At ... you can buy fresh-cut flowers and potted plants. 4.
Men can have their hair cut at the ... . 5. Alice is at the ... . She is
sneezing, coughing and has a high temperature. 6. ... is a shop in which
bread (and often other baked goods such as cakes) is baked and/or sold. 7.
Some butchers sell their goods in specialized store, commonly termed a
... . 8. He went to the ... to buy analgesics, heart care medicines and
antibiotics. 9. Paul bought spices, pepper, sugar, cocoa, tea and coffee at
the ... . 10. At our ... you can buy different fruits and vegetables that may
help you to eat less high-fat foods, such as meat, cheese and shack foods.

Exercise 43. Translate the sentences into English.

1. CydyacHi MDKHApOJHI aepornopTH OOCIYrOBYIOTh BEIHKY
KUTBKICTh TACaXHUpiB, Hajgaroud iM pizHi Bumu mocuyr. 2. Koxen
aeporopT Ma€ TEePMIHAIHM Ta 3alIM OYIKYBaHHS, NI€ IMAaCaKUPH MOXYTh
BIAMOYMTH, a TaKOX MpuaOaTH Bce HeoOXimHe. 3. Jlusa 3a0e3meucHHS
3py4HOCTI 1 KOM(DOPTYy y MDKHApOTHHX aepormopTax (YyHKIIOHYIOTH
MarasuHu OE€3MHMTHOI TOPTiBII, aNTEKW, ra3eTHi KiOCKH, IMOJapPYHKOBI
MaraswHH, MEepyKapHi, KaMepHu CXOBY, OWUTA4l KiMHaTH Tomio. 4. Jleski
CydJacHI aepoIopTH MAalOTh BJIACHI TOTEI, IO MTOOYI0BaHI Ha TEpUTOPIii
TepMmiHaiB abo mpu HUX. 5. CTilKi peecTparltii macaxwupiB, OUTETHI KacH,
iHdopmariitae Tabao, 3acobu TeIeKOMYyHIKaIlil Ta iHopmariitae O0ropo —
HEBII'EMHI CKJIIQJOBI TACaXHPCHKOTO TepMiHAMy. 6. be3nmpoBimHmiA
IaTepHeT mae MOXIIMBICTH BimBigyBadaM aepomopTy 3ajHINaTHCS Ha
3B’S3Ky 3 pimHOIO 1OMiBKOO Ta odicom. 7. Ilocmyrm Oanky, 1o
3HAXOAWTHCS Ha TEPUTOPIl aepomopTy, BKIIOYAIOTH OOMIH i1HO3EMHOL
BallfOTH, BUJIA4y TOTIBKH 332 KPEAUTHOK KapTKOI, TPOIIOBI TIEpeKasn Ta
3HATTS Tpoleit yepe3 OaHKoMaT.

Exercise 44. Learn the following words and word combinations.

check-in desk - cTiliKa peecTparlii macaxKupis
departures board - TabII0 BUILOTY

shuttle bus - aBTO6yC - IaTi

staffer - CIiBPOOITHUK

via - uepes

hand baggage - py4Ha MOKJIaxKa

scales - Baru
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interfere with something - TYT: MaTH JIOCTYII J0 YOI 0Ch

aisle seat - CHJIIHHS OIS IPOXOY

check through - TIepecHsIaTi

belt - CTpiuKa KOHBEEPY

customs - MUTHHUIIS

confiscate something - KOH(DICKyBaTH, BHIYIUTH

sole - migomsa

board (a flight) - 3aMTPOCHUTH MACAKUPIB T THATHCS
Ha OOpT JiTaka

here you are -0Ch, Oy/Ib JTacka

Exercise 45.Read, translate and practise the dialogues.

Dialogue 1
Looking for the check-in desk

Sabine: Excuse me. Do you know where the BA (British Airways)
check-in desk for international flights is?

Traveller: I'm not sure. Have you checked the departures board? They
usually give the number of the check-in desk for each flight.

Sabine: Yes, | checked the monitor over there, but my flight isn't even
listed.

Traveller: Oh, then you're probably in the wrong terminal. You probably
want Terminal 3.

Sabine: Oh, right! That explains it, thanks!

Dialogue 2
At the information desk

Sabine: Hi. I'm looking for Terminal 3.
Information staffer: International departures?
Sabine: Yes. I'm flying to Los Angeles.
Information staffer: Well, to get to Terminal 3, you can either turn left
and follow the green signs, or take the shuttle bus, which stops outside
the doors behind you.
Sabine: Thanks!
Dialogue 3
At the check-in desk

Airline agent: Good morning. Where are you flying to?



Sabine: Los Angeles via Washington Dulles. Here's my ticket and
passport.
Agent: Thanks. Do you have any bags to check in?
Sabine: Just the one suitcase.
Agent: Thank vou. And may | see your hand baggage, too? Oh, if you
could just put it on the scales, too... Good, that's fine. Now | have some
questions to ask you: Have you packed the bags yourself?
Sabine: Yes.
Agent: Has anyone given you anything to take with you?
Sabine: No.
Agent: Could anyone have interfered with your bags since you packed
them?
Sabine: No. I've had them with me the whole time.
Agent: Very good. Would you like a window or an aisle seat?
Sabine: Window, please.
Agent: All right. Here's your ticket. Your bag is checked through to LA,
but you'll have to pick it up at Dulles to go through customs.
Sabine: Thanks, | know.
Agent: Good. You're at gate 27. Boarding time is at 11.
Sabine: Thank you.
Dialogue 4
At the security check

Security officer 1: Just place your bag on the belt. And put any keys,
coins and your mobile phone in this tray. Have you got a laptop?

Sabine: Yes.

Officer 1: Please take it out of the bag and put it in here. ... OK. Go on
through.

Officer 2: Could you raise your arms, please? ... Turn around, please.
Now lift your foot so that | can see the sole — and now the other one.
That's fine.

Officer 3: Is this your bag, madam?

Sabine: Yes.

Officer 3: I'll need to look inside.

Sabine: Please go ahead.

Officer 3: Did you know you had nail scissors in this pocket?

Sabine: Oh, no, I didn't realize that. I'm sorry.

Officer 3: I'm afraid I'm going to have to confiscate them.



Sabine: | understand. Sorry about that.

Dialogue 5
At the gate

Boarding agent: We are now ready to board flight 176 to Washington
Dulles. We are starting with rows 50 to 69. To make the boarding process
go smoothly, please wait until your row is called and have your boarding
pass ready and passport open to the picture page.

Sabine: Here you are.

Boarding agent: Thank you. Have a good flight.

Exercise 46. Learn the following words and word combinations.

baggage allowance - HOpMa TIepeBEe3eHHs Oaraxy
detach - BiZIpHBaTH

be subject - MIJISATATH, TIKOPATHCS

be valid - OyTH IifiCHUM

cancel the order - aHyJIIOBATH 3aMOBJIEHHS
cargo compartment - 6araxHui BIACIK

check-in - peecTpariist

check in time - yac peecrparii

change of flight - mmepecajika, 3MiHa peiicy
confirm - MiATBEPHKYBATH
compressed gases - CTHCHYTI rasu

corrosive materials - TIKi pe4oBHHI

departure - BiapaBJIeHHS

scheduled departure - yac BiIIpaBIICHHS 32 PO3KIAI0M
destination - MicIie MpU3HAYCHHS

flight number - HOMEp peicy

magnetized materials - HamaruiueHi marepiaau
make a reservation - OpOHIOBATH KBUTOK
oxidizing materials - OKHMCIIIOBaYi

poisons - OTpYyTH

stick - IPUKJICIOBATH

stipulate - 3yMOBJIIOBATH, CTABUTH YMOBOIO
stopover - 3yIIUHKA

tag - IPUKPIIUIATH APIAIOK

tear-off - BiIpUBHUIA



receipt -KBUTAHIIisl, PO3MUCKA PO OCPKAHHS

Exercise 47. Read, translate and give the gist of text 6.
Text 7 . Ticketing

An airline ticket is a receipt for transportation that has been paid
for in advance by the passenger. The ticket presents a booklet with tear-
off coupons of different colours. On the front cover of the ticket there are
the airline's flag, its address and complete name of the ticket. The booklet
contains "Conditions of Contract”, "Advice of international passengers on
limitation of liability", "Notice of baggage liability limitations™ and other
information concerning baggage allowance and dangerous articles in
baggage. There is also indication of town terminal address and the time of
check-in at the airport. There are also lists of articles-allowed to be
carried free and restricted to carriage.

These are followed by the tear-off coupons of three colours.
"Audit Coupon™ which is of green colour serves for verification of
correctness of application of fares and for control purposes.

"Agent Coupon" is pink. This is a document to be retained by
selling office. Upon completion it is detached. "Flight coupons” are
yellow. There may be from 1 to 4 such coupons in a ticket depending on
the number of transfers. At every point of departure one flight coupon is
to be detached from the ticket.

The ticket agent first has to fill in the passenger's name. An
airline ticket is non-transferable; it cannot be used by any person other
than the one whose name appears on the ticket. The ticket issued at the
normal fare is valid for one year as of the date of commencement of
flight. If no portion of the ticket is used then it is valid for one year as of
the date of issue. A ticket issued at other than the normal fare is valid for
the indicated period only and is subject to the conditions of the fare
applicability, stipulated on the ticket.

There is also space on the ticket to indicate where the trip starts
and what the type of service is, first class or economy. The code F, for
first class, or Y, for economy, is used on the ticket. The agent must also
indicate the baggage allowance, the airline or the carrier, the flight
number and the time of departure. Finally, the "reservations status" must
be indicated. This shows whether the seat has been confirmed (OK) or
only requested (RQ).

At the day of your journey you have to present yourself at the



airport desk one hour and 30 minutes, or one hour at least prior to
scheduled departure. If you fail to arrive at the check-in in due time, you
will not be accepted for transportation on the flight for which you have
reserved a seat. Please, inform the officer at the check-in desk about your
destination and present your airline ticket. If your route includes several
stopovers or a change of flight, kindly indicate the final destination to
which your baggage should be tagged.

Before check-in of your baggage, the old tags should be removed
from it, otherwise it could be sent to a wrong destination. Carefully fill in
address labels and stick them on your baggage, which will be carried in
the cargo compartment.

For safety reasons, dangerous articles must not be carried in
passengers' baggage. These regulations apply to compressed gases,
corrosive materials, explosives, munitions, weapons, easily flammable
materials, oxidizing materials, magnetized materials, radioactive
materials, poisons, infectious substances. Small arms, ammunition, dry
ice may be carried in limited quantities under certain conditions.

Exercise 48. Translate into Ukrainian:

to present tear-off coupons of different colours; to contain
information concerning baggage allowance and dangerous articles in
baggage; to serve for verification of correctness of application; to depend
on the number of transfers; to be non-transferable; to be valid for one
year as of the date of commencement of flight; to be valid as of the date
of issue; to be valid for the indicated period only; to be subject to the
conditions of the fare applicability; to arrive at the check-in in due time;
to reserve a seat; to confirm the seat; to include several stopovers or a
change of flight; to remove the old tags from your (the) baggage; to be
carried in the cargo compartment.

Exercise 49. Name the following definitions:

a written or printed piece of card or paper that gives the holder a
certain right to travel by plane; the transporting of goods from one place
to another; a place where one checks in at an airport before a flight; the
action of departing, going away; the final place to which somebody/
something is going or being sent; the state of being required to do
something or accept responsibility for something; a short stay somewhere
between parts of a journey; an act of changing to a different place,



vehicle and route during a journey; a label or device attached to
somebody/ something to identify it; money, charged for a journey by bus,
ship, plane, etc.

Exercise 50. Are the following statements true or false?

1. An airline ticket is a receipt for transportation that has been
paid for in advance by the passengers. 2. The number of flight coupons
depends on the type of service. 3. An airline ticket is transferable, it can
be used by any person. 4. The ticket issued at the normal fare is valid for
one year as of the date of commencement of flight. 5. A passenger has to
present himself at the airport desk 30 minutes prior to scheduled
departure to be accepted for transportation on the flight. 6. Code “OK”
shows that the seat has been confirmed. 7. Before the journey the old tags
should be removed from the baggage. 8. Any passenger can carry
weapons, munitions, explosives and compressed gases without
restriction.

Exercise 51. Complete the following dialogue.
Passenger: Could you tell me what the fare to New York is?
Ticket agent:

P.: One way, please.

T.A.: The normal adult one-way economy aare is 8000 UAH.
P..

T.A.: How old is your child?

P.: Ten.

T.A.: The charge for children under twelve is 10% of the adult fare.
P.: Then one-way adult ticket and for a child, please.

T.A.:

P.: Flight 723, Monday, the 9™ of December.

T.A.: Let me see your passport, please.

P..

T.A.: Wait a minute, please... Here you are.

P.: Thank you . And how long is my ticket valid?

T.A.:

P.: Thank you for information.

Exercise 52. Fill in the blanks with prepositions.



1. An airline ticket is a receipt for transportation that has been
paid for in advance ... the passenger. 2. The ticket presents a booklet ...
tear-off coupons ... different colours. 3. “Audit Coupon” serves ...
verification of correctness of application of fare. 4. An airline ticket may
contain from 1 to 4 “Flight coupons” depending ... the number of
transfers. 4. ... every point of departure one flight coupon is to be
detached ... the ticket. 5. The ticket issued ... the normal fare is valid ...
one year from the date of issue. 6. ... the day of your journey you have to
present yourself ... the airport desk one hour and 30 minutes prior ...
scheduled departure. 7. If you fail to arrive at the check-in ... due time,
you will not be accepted ... transportation on the flight.

Exercise 53. Put ten questions of different types on the text.

Exercise 54. Read, translate and give the gist of text 8.
Text 8. Fares and rates

There are two main categories of passenger fares on scheduled
services, known as normal and special fares. Normal fares include first-
class and economy or tourist-class fares. They are available to members
of general public without restriction.

The level of normal fares tends to vary on a given route
according to the season (peak, shoulder and off-peak) and may also vary
by day of week or time (mid-week, weekend, combinations thereof or
night travel).

Special fares (promotional or discount fares) are distinguished
from normal fares in that there are such restrictions as geographic
availability, to whom they may be sold, on the duration or time of the
validity and on advance purchase requirements. A given special fare may
combine one or more of these restrictions.

Examples of special fares are excursion fares, advance purchase,
incentive, affinity and non-affinity group fares, individual and group
inclusive tour fares, youth, family, military, pilgrim, local resident,
student and teacher fares etc.

The most available of these special fares are excursion fares.
They are generally restricted with respect to their validity in time.

Any special fare must be based on market research. It should be
designed to fill empty seats on low density or hours in the day.

A similar distinction between normal and special categories can



be made with respect to cargo rates known as general cargo rates and
specific commodity and class rates.

The general cargo rates are set at different levels according to
the weight of the shipment. These rates frequently vary accordingly to the
direction of shipment.

General cargo rates are constructed to carry general freight
shipment while also providing an incentive to shipper through the
incorporation of quantity discounts at higher weight break points.

In selecting representative freight rates it was not considered
practical to select a rate from the special commaodity rate category, which
are extensive in number, or class rates which only cover a few items.

Specific commodity rates are designed to meet the need of
shippers of bulk consignments of specific commodities. The special
discounts are available on some routes to shippers using various types of
standardized containers.

Exercise 55. Choose the correct words from those in the brackets
and use its appropriate grammar form.

Market research, to combine, restriction, to distinguish,
shipment, excursion, weight, to fill, low density, level, validity, category,
respect

1. There are two main ... of passenger fares on scheduled
services. 2. The fares are available to members of general public without
... . 3. The ... of normal fares trends to vary. 4. Special fares are ... from
normal fares. 5. A given special fare may ... one or two restrictions. 6.
The most available of the special fares are ... fares. 7. The excursion
fares are restricted with respect to their ... in time. 8. Any special fare
must be based on ... . 9. It should be designed to ... empty seat on ...
days. 10. The general cargo rates are set at different levels according to
the ... of the shipment. 11. A similar distinction between normal and
special categories can be made with ... to cargo rates. 12. General cargo
rates are constructed to carry general freight ... .

Exercise 56. Give English equivalents.

PeectpyBaTtn Tapudu, 3a0X04yBaJbHHN Tapud, TypTOBHI TOBap,
MOJOPOXKYBATH 32 MiBLIHM, MIAJISATATH 3HUKKAM, BCTAHOBIIIOBATH Tapud,
Tapu@ Iepuoro Kiacy, Tapud 3i 3HUKKOIO.



Exercise 57. Complete the sentences.

1. There are two main categories of passenger fares on scheduled
services known as ... . 2. The level of normal fares tends to vary on a
given route according to.... 3. A distinction between normal and special
categories can be made with respect to ... . 4. Cargo rates frequently
vary according to ... .

Exercise 58. Answer the questions.

1. What are the two main categories of passenger fares? 2. What
must special fares be based on? 3. What is the most available special
fare? 4. What categories can we divide the cargo rates into?

Exercise 59. Match the following words with their equivalents.

1. categories a. 320X0uyBaJIbHI Tapudu

2. passengers fares b. monepenHst KymiBs

3. scheduled services C. reorpadivyHa JOCTYIHICTh

4. normal fares d. mHi 3 HEBETMKUM 3aBaHTAKECHHSM
5. special fares €. MiCIIeBHil JKUTETh

6. first-class fares f. moBHuii Tapud

7. economy class fares 0. MapIpyT

8. to be subject to h. mignsrata

9. restrictions i. Tapudu 31 3HIWKKOIO

10. promotional fares j. macaxxupceKi Tapudu

11. discount fares K. 3a10BONBHATH TTOTPEOH

12. local resident |. cnemianeui Tapudu

13. advance purchase M. IOCTIHKEHHS PUHKY

14. pilgrim N. Tapudu KOHOMIYHOT'O KJIACy
15. validity 0. OOMeXKeHHs

16. geographic availability p. Kateropii

17. market research . KOHTe#Hep

18. to design I. TaJOMHMK

19. low density days S. Tapudu 06€3 3HIKOK

20. cargo rates t. BanTaXkHI Tapudu

21. general cargo rates U. MONOJ>KHUIA Tapud

22. adult fare V. 3araJibHAN BaHTXXHUH Tapud
23. to meet the needs W. 00CITyroByBaHHS 3a PO3KIaI0M
24. container X. Tapu MepuIoro Kiacy

25. youth fare Y. po3pobisiTu



26. route Z. IPUJATHICTD

Exercise 60. Learn the following words and word combinations.

freight - BaHTaX

label - HAKJICKOBATH SIPIIHK

point of origin - yHKT BiJpaBICHHS

point of destination - YHKT MPU3HAYCHHS

door to door - «Bif qBEpeEi 10 aBepeity

shipment - BaHTaX, NapTis BaHTaXy, BAaHTaKHE
TIepEeBE3CHHSI

forwarding agency - areHTCTBO 3 EKCIIeINPYBAaHHS BaHTAXKIB

personal effects - 0cOOMCTI pedi, 0coOncTe MaitHO

shipper - BIITIPAaBHUK BaHTAXy

freight agent - areHT 3 ppaxToOBHX Oreparlii

reservation agent - areHT 3 OpOHIOBAHHS KBUTKIB

assign - IpU3HAYATH

arrange for the pickup - mToMoBIsATHCS TIPO OTPUMAHHS BAHTAXKY
BiJ BaHTaXXOBIIIPaBHUKA

air waybill - aBia HaKJIaJHA Ha BaHTaX

book the shipment - 3a0pOHIOBATH BaHTAKHE ITEPEBE3CHHS

strayed shipment - BaHTaX, 10 3a0IyKaB

baggage compartment - OaraxHuit BIACIK

cargo - BaHTaX

charges - BUTPaTU

cubic inches - KyOiuHi qroiMu

volume allowance - HOpMa pO3MIipiB BaHTaXKy

rate - BAaHTXXHUH Tapud

payment on delivery - OILIaTa IICIS TOCTaBKH

fare - acaXUpPChKuid Tapud

customs broker - MUTHHIA OpoKep

consignee - BaHT@)KOOTPUMYBaY

Exercise 61. Read, translate and give the gist of text 9.
Text 9. Air freighting
The movement of freight by air is more complicated than the
movement of passengers by air. Every piece of freight has to be
carefully labeled and transported from place to place — not just from
airport to airport but also from point of origin to point of destination —



door to door, to use a common expression. In addition, there are more
government regulations, and usually more complicated ones, for
international shipment of freight than for passengers.

A large proportion of air freight shipments are handled by
freight forwarding agencies. They take care of making all the
necessary arrangements so that the customer is not bothered with the
details. Many shipments are also made by companies or government
offices, that do so much shipping that they are experienced in all the
procedures.

Only a relatively small number of shipments originate with the
general public or with companies that do not make a regular practice
of shipping by air. Many shipments from the general public consist of
personal effects — personal belongings of the shipper which are usually
shipped because the customer has been transferred to a new job or is
making an extended stay in a different area.

Like the reservations agent, the air freight agent does most of
his work by telephone. The air freight agent assigns an air waybill
number to the shipment. Then he arranges for the pickup of the
shipment from the customer. He can also book the shipment on
whatever flights are necessary. When the shipment is received by the
airline, each piece is marked with the air waybill number for
identification.

In addition to the routine of arranging for pickup and
delivery, booking the shipments on flights, and filling out air waybills,
the freight agent is also involved in such problems as tracing lost or
strayed shipments and dealing with claims on damaged shipments. He
must also be acquainted with the special services that his airline
offers, such as containerized service, in which the airline provides the
shipper with special containers.

The most important document in the shipping of air freight is
the air waybill. It might well be described as the ticket on which the
freight travels. The air waybill is a complicated document, much
more complicated than a passenger ticket. There are usually as many as
twelve copies of each air waybill. Copies go to the shipper, the
consignee, and each airline on which the freight travels. The air
waybill shows the value of the shipment, the charges, the insurance,
the flights on which the freight is being shipped, and a great deal of
other information.



Air freight is carried either in the baggage compartment of
regular passenger flights or by freight flights on planes that have been
especially designed or adapted for carrying cargo.

The charges on air freight are determined either by weight or
weight plus volume — that is, by the size of the pieces in the shipment.
Generally, a certain number of cubic inches is considered the equivalent
of a pound of weight. On international shipments, the shipper is at
present allowed 194 cubic inches for each pound. If he exceeds the
volume allowance, he pays a higher rate.

With passengers, the fare for the flight is almost always paid in
advance. Even when a passenger uses a credit card, his fare is legally
prepaid since the credit card company is assuming the responsibility
for payment. With freight, however, the airline can also accept pay-
ment on delivery; this is probably customary with large, frequent
shippers. The member of the general public who was shipping per-
sonal effects would probably be asked to prepay. In regard to inter-
national shipments, however, some countries do not permit any ship-
ments except those that have been prepaid, no matter who the
shipper is.

With a member of the public, the agent is probably unable
to assign an air waybill number, ascertain the charges, or book the
shipment on specific flights until the shipment had been received by
the airline, when it is weighed and checked to see if it was adequately
packed.

In addition to the freight forwarding agencies, the shipping
business has also given rise to another occupation, the customs broker.
The customs broker gives assistance to international shippers both in
getting the necessary documentation for outgoing shipments and in
getting incoming shipments through customs formalities. In almost all
countries, incoming freight must go through customs, just like an
arriving passenger, before it can be released to the consignee — the
person or company receiving the shipment. Freight usually must be
opened and inspected in the presence of the consignee or someone
who represents him. This is one of the jobs that a customs broker can
perform.

Air freight, like chartering, will probably make up a larger
share of the total airline business in the future. The airlines generally
make a larger profit carrying freight than they do carrying passengers,



a fact which guarantees the growth of air freight services.

Exercise 62. Answer the questions.

1. What makes the movement of freight by air more complicated
than the movement of passengers by air? 2. What organizations usually
handle air freight? 3. What is the air freight agent responsible for? What
are his routine activities? 4. What is an air waybill? 5. What does an air
waybill show? 6. How are charges on air fright determined? 7. How are
air freighting services paid for? 8. What are the duties of a customs
broker?

Exercise 63. Give Ukrainian equivalents:

international shipment, piece of freight, personal effects, freight
agent, containerized service, to give assistance, movement, fare, rate,
value of the shipment, to handle, general public, air waybill, to book the
shipment, fill out an air waybill, outgoing shipments.

Exercise 64. Find English equivalents:

MEPEBE3CHHsT  BAaHTaXy, MYHKT BUINPAaBICHHS, JIepXKaBHI
ITOCTAaHOBH, BAaHTAKOBIAIPABHUK, IIPH3HAYATH HOMEp aBia HAKIAIHIN Ha
BaHTaX, 3aiiMaTHCA CKapraMH 3 TMPHBOJAY IIOMIKOJKCHHS BaHTAXY,
CTpaxyBaHHS, I[I€PEBO3UTH, HOpPMa pPO3MIpIB BaHTAXy, 3HAXOAWUTH
BaHTaX, 10 3a0TyKaB.

Exercise 65. Match the terms with their definitions.

. air freight a) a person, agent, organization, etc., to which

merchandise is consigned.

shipment b) the amount of a charge or payment

expressed as a percentage of some other
amount, or as a bhasis of calculation.

3. consignee c) goods that are carried by ship, train, or
aircraft, and the system of moving these
goods.

4. customs broker d) document made out by a consigner of goods
to facilitate delivery of the goods to the
consignee giving the name of the consignor
and the loading airport, the consignee and
the airport of destination, a description of the

[y
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goods, the value of the goods, and the
marks, number, and dimensions of the

packages.
5. freight forwarding e) an agent who handles customs and other
agency government formalities on freight shipment
6. air waybill f) a commercial agency that makes all

arrangements for the shipment of freight
either by air or surface.

7. rate g) freight transported by aircraft; movement of
freight by air.

Exercise 66. Make the following sentences passive.

1. The air freight agent assigns an air waybill number to the
shipment. 2. The air waybill shows the value of the shipment, the
charges, the insurance and a great deal of other information. 3. With
freight the airline can accept payment on delivery. 4. The customs
broker gives assistance to international shippers both in getting the
necessary documentation for outgoing shipments and in getting
incoming shipments through customs formalities. 5. A customs broker
opens and inspects freight in the presence of the consignee or
someone who represents him. 6. The airlines generally make a larger
profit carrying freight than they do carrying passengers.

Exercise 67. Translate into English.

1. Ilig 49ac TOBITPSHOTO BAHTAKHOT'O TEPEBE3EHHS Ha KOXHY
OJIMHUITI0 BaHTaXy PETEIbHO HAKJICIOETHCS  SIPIMK 1  BaHTaXK
MEPEBO3UTLCS 3 TYHKTY BIANPABICHHS IO MYHKTY TNPU3HAYCHHS. 2.
binpira wacTrHA TOBITPSHWUX BAaHTAXKHHUX TEPEBE3EHH OOCIYTOBYETHCS
arecHTCTBAaMH 3 CKCIEAWPYBaHHS BaHTaxiB. 3. AreHT 3 (paxToBUX
orepariii BifcTexye 3aryOieHi BaHTaxki abo BaHTaxi, mo 3a0iykand, i
Ma€e CopaBy 3 cCKapramMd Tpo TOIKoKeHud Bantax. 4. Komwm
aBiaKOMIIaHisl OTPUMY€ BaHTaX, KOKHA HOro NAapTiss MapKyeThCs
HOMEpPOM, 3alKCaHUM B aBiaHakmaaHiid. 5. Burpatm Ha BaHTaXHI
MEPEeBE3CHHS BHU3HAYAIOThCS 32 Baror abo Baror 3 00’eMoM, TOOTO 3a
PO3MIpOM OJIMHHUIL BaHTaxXy. 6. MuTHHWI Opokep Hajae jgornoMarae
MDKHApOIHUM  BaHTXKOBINIPaBHUKAM, 3a0e3nedyloun  HeoOXiTHOI0
JOKYMEHTAII€I0 JUIsl BUXIMHUX BAaHTAXIB, Ta MHUTHI TPOLEAYpPH JUIA



BXiIHMX BaHTaxiB. 7. B aBiaHaknagHili BKa3yeThCs BapTiCTh BaHTaXY,
BUTpATH, CTpaxyBaHH:, peicH Ta iHIIe.

Exercise 68. . Read, translate and give the gist of text 10.

Text 10. Cargo transportation

Auviation is in need in many spheres of national economy. It is
widely used not only for passenger and cargo transportation but also in
agriculture, industrial projects, ambulance and rescue operations etc.

Cargo transportation is carried out both by passenger and cargo
aircraft.

Building materials, pipes, equipment, cars, consumer goods,
metalwork, machine tools and foodstuff- all these are delivered with
guaranteed safety and always on time on board of cargo planes, which
can carry both bulky and containerized cargoes

Airlines want to be linked with the large network of agents,
forwarders, shippers, banks, customs office and other segments of the
cargo community. The computerized cargo system enables them not
only be linked with each other but also have direct entry to such data
bank.

It performs 2 functions. The first is networking, which allows users
to communicate. This system takes incoming calls & sends them out to
the proper office as well. It translates the incoming message into the
appropriate language for transmittal. The second is the data bank, or
information library, which provides users with rates, routings, customs,
requirements tracking, and hazardous cargo requirements.

Among benefits are the following:

> increased cargo income through better interline invoicing;

> reduction in staff;

> reduced operative and maintenance costs ;

> better use of aircraft capacity;

> better yield with yield management;

> increased share in the handling of small cargo;

To occupy a definite position on a market place air carriers
(operators) provide customers with different services. For example, KLM
Cargo carries out PDS (Publication Distribution Services), Lufthansa GCS
(German Cargo Services) specializes in the carriage of livestock. There is
a charter helicopter cargo service to deliver documents and printed



matters to institutions in New York metropolitan area.

Speaking about cargo transportation we cannot but mention
documents which accompany cargo. They are Cargo Manifest, Air
Wayhbill, Load Sheet, Air; Cargo Cornet, Proforma Invoice etc.

A few words should be said about airports, where charging and
discharging of cargo is carried out.

It is commonly known that an airport is a very expensive thing to
run and the administration has to take care that it is used if not 24 hours a
day, then at least 18 or 20 and that is very hard to achieve purely with
cargo. So, airports that provide both passenger and cargo facilities really
do offer carriers the best of both worlds.

The best example of all cargo airports can be Dubai Airport. It is
equipped with warehouses and docks for import/export, perishable cargoes.
There are racks for small, medium and large warehouse pallets. Warehouse
employees deliver items to and from the racks using elevating transfer
vehicles, transfer vehicles forklifts and conveyor belts. Such airports will
provide carriers with maximum support.

Air cargo is a major source of business and one of the main
determinants of profitability for airlines that manage it effectively.

Exercise 69 . Match Ukrainian and English equivalents.

1. xoMII’FOTEpHU30BaHA CHCTEMA a) shipment

2. HACUITHHI/HATUBHUN BaHTaX b) warehouse

3. maprist ToBapy ¢) bulk consignment

4. UIBUIKOTICYBHHM TPOITYKT d) customs

5. MPOIyKTH XapayBaHHsI e) computerized system
6. BaHTaXXOIEPEBI3HUK f) aircraft capacity

7. CKIaIChKe MPUMIIICHHS g) vehicle

8. MUTHHIIS h) perishable product
9. mpormyckHa CIIPOMOXKHICTD JIITaKiB i) forwarder

10. TpancriopTHUii 3aci6 j) foodstuff

Exercise 70. Match English and Ukrainian equivalents.

1. rack a) mianoH
2. livestock b) xonreiinep
3. pallet C) BEpTOIIT



4. profitability d) excrutyaTaniiiHi BUTpaTH

5. helicopter €) KpymHa poraTa Xyao0a

6. charge-discharge f) 3aBaHTa)KyBaTH-PO3BaHTAKYBATH
7. invoice 0) KepyBaTH aepOIOPTOM

8. to run an airport h) paxyHnok-dakrypa

9. container 1) momnust

10.maintenance costs J)IpUOYTKOBICThH

Exercise 71. Give the right terms to the following definitions.

1.A person or organization whose business is to carry or transport
something. Railroads, trucking companies and shipping lines are
. 2.The goods or merchandise carried by a ship, plane, or

vehicle are called . 3. A box, can, jar, or the like that contains
or holds something is called . 4. The act of shipping goods.
Something shipped is known as . 5.A mechanical device for

transporting objects over relatively short distances, usually designed as
moving , continuous belt or a series of rollers is called

Exercise 72. Choose the correct form of the verb

1. Aviation ... not only for passenger and cargo transportation
(use). 2. Cargo ... on board of cargo planes (deliver). 3. Charging and
discharging of cargo ... in the airports (carry out). 4. Operators
customers with different services (provide). 5. Airports ... with
warehouses, racks and docks for import/export perishable cargo (equip).
6. GCS ... in the carriage of livestock since 1980 (specialize). 7.
Helicopters deliver shipments in minutes instead of the hours it ... via
crowded roads (take).

Exercise 73. Use the words to complete these sentences.

International trade finance documents

Commercial Invoice, Insurance Certificate, Certificate of
Inspection, Phytosanitary Certificate, Single Administrative
Document, Certificate of origin, Health Certificate, Proforma Invoice,
Bill of Lading, Veterinary Certificate, Export License, Forwarder’ s
Certificate of Receipt.



1.A document issued by the shipping company to the shipper
which acknowledges that the goods have been received for shipment... .
2.1t gives details of goods, vessel and port of destination ... . 3. This
document is a signed statement providing information about where the
goods come from ... . 4.A document sent by the seller to the buyer,
which includes details about the goods, i.e. quantity, weight, number of
packages, shipment, price, terms of delivery and payment ... . 5. This
document contains a description of the goods and details of the claim
procedures in case the goods are lost or damaged in transit ... . 6. This
document is required if animals are being transported and is a
declaration that they are in a good health ... . 7. This document is often
used for technical equipment and confirms that the goods follow the
client’s requirements ... . 8.This document is required when food stuffs
are transported and confirms that the goods follow Standard Hygiene
Codes and are fresh ... .9.This document issued for the free movement of
goods within EU countries ... 10.A document which serves as an
example or estimate of the cost of goods or services and does not require
payment ... . 11.A license which enables the exporter to carry out trade
... . 12. A receipt for goods issued by forwarding agent to an exporter ....
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